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Question Number : 1 Question Id : 60092912274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

CEG,IKM,  ,UWY
Options :
1. ® NOP
2. % 0QS
3. % PQR
4. % PRT

Question Number : 1 Question Id : 60092912274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad &R s & Jud ug J1d H |

CEG,IKM,  ,UWY
Options :
1. ¥ NOP
2. % 0QS
3. * PQR
4. % PRT

Question Number : 2 Question Id : 60092912275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. KOLKATA

2. KOLAR

3. KOLAGHAT
4. KATHMANDU
5. KOLHAPUR

Options :

1. % 41235
2.9 43251
3. % 43125
4. % 45231

Question Number : 2 Question Id : 60092912275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T Usal P ST HH H TafRUd R SE FAH I TeH H B B

1. KOLKATA
2. KOLAR




3. KOLAGHAT
4. KATHMANDU
5. KOLHAPUR

Options :

1. % 41235
2. % 43251
3. % 43125
4. % 45231

Question Number : 3 Question Id : 60092912276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % China : Yuan

2. # Indian : Rupee

3. % Malaysia : Ringgit
4. ¥ Japan : Euro

Question Number : 3 Question Id : 60092912276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fawed & 9 & Te Y Rid 3 90 § | 810D, Uh [Aded 31 diF &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. = Eﬂ:fgerﬂ:[

2. % YR 3l

3. % Tafe[ : R

4. ¢ SOH QR

Question Number : 4 Question Id : 60092912277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % GJIM
2. % KNQ
3. ¥ UXZ
4. % PSV

Question Number : 4 Question Id : 60092912277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt fiwedl A @ & e Rfd %  THH 81 gTdiTd, T faded 30 diF o1 oRE el ¢ | 39 fdshed o1 Iu= &Y oY 30 ¥ 3T 5|
Options :

1. * GIM

2. % KNQ

3. ¥ UXZ

4. % PSV

Question Number : 5 Question Id : 60092912278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

DTG : AQD :: SIY : ?
Options :

1. ¥ MHE

2. % RLZ

3. % JQW

4, ¥ PFV

Question Number : 5 Question Id : 60092912278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fasred &1 999 B S R Ue § I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7

DTG : AQD :: SIY : ?
Options :

1. % MHE

2. % RLZ

3. % JQW

4. ¥ PFV

Question Number : 6 Question Id : 60092912279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

ELTX : YUMF :: ?
Options :

1. % PGIC : DJHQ

2. % RUZZ : AATS
3. ¥ LMML : MLLM
4. % ACEG : BDFH

Question Number : 6 Question Id : 60092912279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B o Uy 7 &) 7S SISt A 9HH YR I Y& 7

ELTX : YUMF :: ?
Options :

1. % PGIC : DJHQ

2. % RUZZ : AATS
3. ¥ LMML : MLLM



4. *= ACEG : BDFH

Question Number : 7 Question Id : 60092912280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if FILE is coded as 8, STEP is coded as 15, then what will CROP be coded as?
Options :

1.9 13

2. % 14

3. % 15

4. % 16

Question Number : 7 Question Id : 60092912280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Af3d Bie Ui § afe FILE &1 8 & U # wifsd a1 T 8, STEP & 15 & U A ifgd faar Tar g, df CROP &1 8 shifed fasar
oITIIT?

Options :

1.9 13

2.% 14

3. % 15

4. % 16

Question Number : 8 Question Id : 60092912281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if speaker is called charger, charger is called pen drive, pen drive is called clock, clock is called painting, and painting
is called mat, then what is used to determine time?

Options :

1. # Pen drive
2. % Painting

3. ® Charger



4. % Mat

Question Number : 8 Question Id : 60092912281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T3 e W #, fe T o) Aok Be1 T 8, Aok &1 O S13d $el T1 8, U 915d ! U] H8l 1 8, U<! &l fod SeT T g,
3R 7 o) A w1 a1 8, a1 99y fRuilRd o & fore fege IuaiT fasar Sirar 32

Options :

|. % U9 g12d

2. ¢ T

3. % goR

4, % 7c

Question Number : 9 Question Id : 60092912282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a lady, Akash said, "She is the daughter of my father's daughter's only brother's wife." How is the lady related to Akash?
Options :

1. ® Wife

2. ¥ Daughter

3. * Mother

4. % Sister

Question Number : 9 Question Id : 60092912282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Hiedl B 3R FART B GU ATHTR A HET, "I T T 1 Gt F goalia UIS &1 Uell 1 T 7 1 A, S J 3 Faifdd 82

Options :
1. % gat
2. ¢ Al

3. % Hidl



4. % g

Question Number : 10 Question Id : 60092912283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 100 students, Nandan is 70th from the top and Arohi is 40th from the bottom. The number of students sitting between Nandan and
Arohi is?

Options :

1.*9

2.% 10

3.8

4. % 7

Question Number : 10 Question Id : 60092912283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

100 faenfial &1t Fen H e 2T F 70d WM W 7 3R R 7 T 403 RIF WR 1 g 3R RIS & did 96 S| D1 6= 1 82
Options :

1. %9

2. %10

3.8

4. % 7

Question Number : 11 Question Id : 60092912284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two arguments numbered I and II.
You have to decide which of the arguments is a 'strong' argument and which is a 'weak' argument.

Statement: Should education be made free of cost in our country?
Arguments:

1. No. It's not the government's concern to educate everyone.
2. Yes. This step might help to eradicate illiteracy.



Options :

1. # Only I is strong

2. % Only II is strong

3. % Both I and II are strong.
4. % Neither I nor II is strong.

Question Number : 11 Question Id : 60092912284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN B, U Y foar man B, o a1e &l adb 1 3R 11 Ry e &
3T T HA1 ¢ [ DI 1 b oG db § HR DI AT HHIR I g |

HU: 1 gAR -1 ¥ fRre (:gewb g anfgu?

-

1. 7181, Tt ) Rifda v bR 31 e T8t B

2. B11 98 HeH FReRal &I fifem § Weridl &R & |
Options :

1. % %Hqd | A §

2.« Had 11 ASEd §

3. % 1 3R 11 GF A9igd ¢ |

4. % F1 ARG 11 HEd &

Question Number : 12 Question Id : 60092912285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two assumptions numbered I and II. Analyse the two assumptions together and decide
which of the assumptions is implicit in the statement.

Statement: Dipesh has left for Kolkata on Sunday by train to attend his sister's marriage in a resort in Kolkata on coming Thursday.
Assumptions:

I. Dipesh will reach Kolkata on Tuesday.
II. Dipesh may reach Kolkata on or before Thursday.



Options :

1. % Only I is implicit

2. % Only II is implicit

3. # Both I and II are implicit
4. # None is implicit

Question Number : 12 Question Id : 60092912285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY H, TP HYUT & 91 &l YRUME [ 3R 11 S 773 81 IF1 YRS T Teh T1Y fazavor &3 3R a0 &3 {3 i O yron = & Afga g1
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EIE

YRUMU:

1. SR TR Dl DIcihId Ugail|

1. STURT T¥aR &I 1 39 Ugd HIAdhIdl Ugd Ahd ¢ |
Options :

1. % Pad 1 (Afed §
2. ¢ Hadnfafga s
3. % 13RI RfRa g
4. % D13 Mfgd T8I &

Question Number : 13 Question Id : 60092912286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

, 98,133, 168, 203
Options :
1. % 77
2. % 58
3.% 63



4. % 69

Question Number : 13 Question Id : 60092912286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad e gear § qu ug I |
, 98,133, 168, 203

Options :

1. % 77

2. % 58

3.9 63

4. % 69

Question Number : 14 Question Id : 60092912287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1.¥5
2.% 8
3. % 22
4. % 45

Question Number : 14 Question Id : 60092912287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9 o U i3 dRich 1 90 8 | gTallich, U [dahed o A &1 TRE ol 6| 3% [Adhed HI Ia- B off 30 J 3T |
Options :

1.¥5

2.% 8




3. % 22
4. % 45

Question Number : 15 Question Id : 60092912288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between Hexagon, Polygon and Heptagon?
Options :

Question Number : 15 Question Id : 60092912288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffad 7 Q B9 I1 3 3T Yoy, 954 3R WY $ s1F & Tt BT Jad 34T ST 82



Question Number : 16 Question Id : 60092912289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relationship among the elements of which of the following sets is best represented by the given Venn diagram?

&

Options :

1. # Beverages, Tea, Coffee



2. % Men, Dancers, Women
3. % Women, Mothers, Lawyers
4. # Fruits, Apples, Oranges

Question Number : 16 Question Id : 60092912289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 8 3 fra Tg=a & ufedic & &9 & Tau &1 U T8 39 oW gRT Faray U J GRITaT 741 82

Options :

1. % g.uerd, 97y, St
2. % oY, d®, AN
3. « Higdd, AIATY, IDhId
4. ® Bd, 99, G

Question Number : 17 Question Id : 60092912290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, figures A and B are the starting and ending pattern of a series. Out of the four figures, named 1 to 4, one of the figures does
not fit in the series. Find the number of the odd figure.

THO|F | |-

A 1 2 3 4 B
Options :

1. %1




2. %2
3. %3
4.9 4

Question Number : 17 Question Id : 60092912290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T Uy o, 3HA A 3R B T e & URMG 3R fd Ued g1 1 T 4 TH B IR AHaal § T, Pis T Mpid oaan H fhe Tt dodt
g1 fawm srepfa ot e F1d w1 |

A 1 2 3 4 B
Options :

1. %= 1
2.% 2
3.% 3
4.9 4

Question Number : 18 Question Id : 60092912291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the question figure?




77NN\

Question Number : 18 Question Id : 60092912291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 P W SR 3MHia U 3P B IRT Bl 372




2.¥

Question Number : 19 Question Id : 60092912292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the answer figures is the correct water image of the given figure?




2.¥

INIRAIDAIRE

Question Number : 19 Question Id : 60092912292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P IR SATPTA < TS B B TS I SHHfa 72



Options : o




4<

[]

Question Number : 20 Question Id : 60092912293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a dice are given. Based on them, find out which alphabet is opposite to the alphabet z.

P

Options :
1. *p
2. % s
3.%y
4. ¥ x

Question Number : 20 Question Id : 60092912293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U Bt i FRUfaar <1 1 &1 576 3MYR IR 10 B3 o PI-97 38R, 2 31&R S ITF g



Options :
1. *p
2. % s
3.%y
4. ¥ x

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

General Awareness

2
600929511
0

0
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600929666
1

Online
Mandatory
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929798
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 60092912294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raja Parba is a day long festival of womanhood celebrated in Odisha.
Options :

1. # seven

2. % five

3. ¥ three

4. % four

Question Number : 21 Question Id : 60092912294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ROl IR SIFSRT H AT S aTel ARId &1 f& &1 daT ARR B
Options :

1. % 4id

2. % U

3. ¢ dH

4. % dR

Question Number : 22 Question Id : 60092912295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Jantar Mantar of Jaipur is a collection of  astronomical instruments built by the Rajput king Sawai Jai Singh II.
Options :

1. % 17



2. %10
3. % 12
4.4 19

Question Number : 22 Question Id : 60092912295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR &1 Siek AR Iogd Ao qars s Rig ngrifAffa . @il Suaul &1 U 998 g
Options :

1. % 17

2. %10

3.% 12

4.9 19

Question Number : 23 Question Id : 60092912296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, has been notified as a regulator for gold exchange.
Options :

1. % Reserve Bank of India

2. % State Bank of India

3. % Securities and Exchange Board of India

4. # Small Industries Development Bank of India

Question Number : 23 Question Id : 60092912296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 & Soic § 990N & S9N, D O & fafa & fo Frame & w0 & siitgfed fsar man gl
Options :

1. % URdR Rord o9

2. % YRAG LT dF



3. ¢ YR ufayfd SR faFma a8
4. % YR Y 3N fabr dF

Question Number : 24 Question Id : 60092912297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Statutory Liquidity Ratio as of 20 May 2021 as per Reserve Bank of India's Monetary policy?
Options :

1. ¥ 18%

2. % 12%

3. % 6%

4. % 4%

Question Number : 24 Question Id : 60092912297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTg Foid dF @ Hifads ifd & SR 20 78 2021 9 Wded! fafedfed Y #r g2
Options :

1. ¥ 18%

2. % 12%

3. % 6%

4. % 4%

Question Number : 25 Question Id : 60092912298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anamudi Shola National Park is located in which of the following states?
Options :

1. ¥ Kerala

2. # Karnataka

3. % Tamil Nadu

4. ¥ Maharashtra



Question Number : 25 Question Id : 60092912298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 9 fora wroa & ol <ien st Ia fRud 32
Options :

1. ¢ DR

2. % HHICH

3. % i A1

4. ® HERIY

Question Number : 26 Question Id : 60092912299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The common name of Glycine max is
Options :

1. # chickpea

2. # groundnut

3. % pea

4. ¥ soyabean

Question Number : 26 Question Id : 60092912299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR HoR &1 Qg 1 gl
Options :

1. % g1

2. % QI

3. % HX

4. QTS



Question Number : 27 Question Id : 60092912300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two statements are given below. Which of the following statement(s) is/are true?

1. A block mountain is also called as Horst.
2. The Satpura mountain range is an example of Relict Mountains in India.

Options :

1. % Only 1

2. % Only 2

3. % Both 1&2

4. # Neither 1 nor 2

Question Number : 27 Question Id : 60092912300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3wy feu e B | Fofafed 8 9 o F 91 $yF 93 2782

1. T Udd B g Wl g1 AT g |
2. FAYST UGTHTAT HRA H Safry uddl &1 Udh 3aer0l g |
Options :

1. % Had |

2. % Had 2

3. ¢ 1 3R 2 3T

4. % A1 3RAE 2

Question Number : 28 Question Id : 60092912301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following pairs is incorrect?
Options :

1. # Ganga - East flowing river

2. # Mahi - West flowing river



3. ¢ Krishna - West flowing river
4. % Mahanadi - East flowing river

Question Number : 28 Question Id : 60092912301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR 7 3 - S e 22
Options :

1. % T - gd &1 3R §g- aret! 7

2. % gl - UigH B 3R g8 arelt A4
3. ¢ PN - UIYH & 3R T8 arell AT
4. % UGS - Jd B 3R T arelt el

Question Number : 29 Question Id : 60092912302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following built Badshahi Masjid in Lahore?
Options :

1. ¥ Aurangzeb

2. # Humayun

3. # Jahangir

4. ® Akbar

Question Number : 29 Question Id : 60092912302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o 9 foum aeR o areegt afkse @1 fAmtor faar ar
Options :

1. ¢ 3Tl

2. % gAY

3. ® GBI



4. % HbhaAR

Question Number : 30 Question Id : 60092912303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Babur defeated Ibrahim Lodi in the first battle of Panipat in
Options :

1. % 1520

2.9 1526

3. % 1532

4, % 1541

Question Number : 30 Question Id : 60092912303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CICRE| H UHIud 1 Ugdl dSTs | Selied dldl ol gl
Options :

1. % 1520

2.9 1526

3. % 1532

4. % 1541

Question Number : 31 Question Id : 60092912304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Chittagong Armoury Raid was led by which of the following freedom fighters?
Options :

1. # Chittaranjan Das

2. % Khudiram Bose

3. ¥ Rash Behari Bose

4. ¥ Surya Sen



Question Number : 31 Question Id : 60092912304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRaa o 9 fog Wad=ar S9! 3 9evlia IRAFTR BTY 6T Aded a1 412
Options :

1. % foRIeH ™

2. % GARM &Y

3. % Y fogR d

4. ¢ QG IA

Question Number : 32 Question Id : 60092912305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The real name of Baba Ramdeyv is

Options :

1. % Ajay Singh Bisht
2. % Ram Kishan Yadav
3. % Raghupati Sahay

4. #% Jaswant Rai Sharma

Question Number : 32 Question Id : 60092912305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS G BT e AT &l
Options :

1. % 3o g foy

2. ¢ M e ared

3. % IgUfd 9gr™

4. % Sgdd g Al

Question Number : 33 Question Id : 60092912306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was honoured with the International Federation of Film Archives (FIAF) Award 2021?
Options :

1. ¥ Amitabh Bachchan

2. # Rishi Kapoor

3. % Anupam Kher

4. # Irrfan Khan

Question Number : 33 Question Id : 60092912306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 frd SexaxMd e 1 fhed JTdh 5ot RIBR 2021 T JHATHG o mam
Options :

1. ¢ TEAY =

2. % B BR

3. % 3UE ¥R

4, % RBMHUM

Question Number : 34 Question Id : 60092912307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
developed three different types of ventilators named Prana, Vau and Svasta; and an oxygen concentrator named Shwaas.
Options :
1. ¥ Indian Space Research Organisation
2. % Defence Research & Development Organisation
3. % Reliance Industries Limited
4. % Bharat Heavy Electricals Limited

Question Number : 34 Question Id : 60092912307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 T SITHT-3ET UHR & AT fAHRId fh, AHd: W0, a1 SR W ; 3R XA ATHS Sfiaio Wi |
Options :
1. ¢ YR SAaRel SraY™ e
2. % & Y U4 [dh TS
3. # Ry gsKiv ferftes
4. % YRd gdl saldeh faflice

Question Number : 35 Question Id : 60092912308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

China on May 7, 2021, launched the eighth group of Yaogan-30 satellites into orbit on a Long March 2C rocket from the Xichang
Satellite Launch Center in Southwest China.

Options :
1. # six

2. ® two
3. ¥ three
4. % five

Question Number : 35 Question Id : 60092912308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 73, 2021 B, Sf0r-ufEm == & =i edame dl< dg Q A-1J- 2C Adbe W I3{RTH-30 SUURI & 3M3d JHg Dl
TguY 1§ gafud faar

Options :

1. % B8

2. % gl

3. ¢ dH

4. % U

Question Number : 36 Question Id : 60092912309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The India-Swiss Financial Dialogue was held through video conference in New Delhi on May 11, 2021.
Options :

1. * 2nd

2. ¥ 4th

3. % 5th

4. % 6th

Question Number : 36 Question Id : 60092912309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd-Rea faxfia darg 11 15, 2021 D1 713 el o Aifsal o1y & wreqd A Sriford faar mam o)
Options :
1. % 2%
2.9 4Y]
3. % 5t
4. % 6di

Question Number : 37 Question Id : 60092912310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two statements are given below. Which of the following statement(s) is/are true?

1. The Prime Minister is appointed by the President, who also appoints other ministers on the advice of Prime Minister.
2. The President is the Supreme Commander of the Indian Armed Forces.

Options :

1. * Only 1

2. % Only 2

3. ¥ Both 1&2

4. * Neither 1 nor 2

Question Number : 37 Question Id : 60092912310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I S ey RRe e & | Fufifed § ¥ oF 91/ Y I3 8/82

1. gyTHET Bt fFgfad SRI DI ST §, S JUTHET &1 9are R o d#iEal & off Fgfad avd g
2. AT HRAT TR SIS & Fafed HHTSR 6|

Options :

1. % ohdd |

2. % PHad 2

3. ¢ 1 3R 2 gl

4. % 1 3RAE?2

Question Number : 38 Question Id : 60092912311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments is also known as Anti-Defection Law?
Options :

1. ¥ 52nd

2. # 44th

3. % 58th

4. % 61st

Question Number : 38 Question Id : 60092912311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o ¥ fod ddeune dxiied o qaagd faRIeh S & 0 F Hft 1 i1 82
Options :

1.+ 524

2. % 449

3. % 584

4. % 61d




Question Number : 39 Question Id : 60092912312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following golf players won the Betfred British Masters 2021?
Options :

1. ¥ Richard Bland

2. % Guido Migliozzi

3. % Dave Coupland

4. % Mikko Korhonen

Question Number : 39 Question Id : 60092912312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 fog Mew faarst 3 deths fafesr ared 2021 Siamw
Options :

1. ¥ REs =fs

2. % T8I FAfeaii®

3. % SAPIUCS

4. % THIH] HREMA

Question Number : 40 Question Id : 60092912313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi Kumar Dahiya recently won a gold medal in April 2021. He is associated with which of the following sports?
Options :

1. % Swimming

2. ¥ Wrestling

3. # Shooting

4. % Archery

Question Number : 40 Question Id : 60092912313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

M3 AR oA BT 81 H 3f0id 2021 & W0l Uga Sitar 7| 98 Fafiied & 9 fea W 3 9 &2
Options :

1. % ORI

2. ¢ Dl

3. % g

4. % yfden
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 60092912314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:

[(3V8 + V8) x (5V8 + 10V8)] -108 = ?
Options :
1. % 38
2. % 748
3. 372
4. ® 475

Question Number : 41 Question Id : 60092912314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRAPHd PR

[(3V8 + V8) x (5V8 + 10V8)] -108 = ?
Options :

1. % 348

2. % 7\8

3.¥ 372

4. % 475

Question Number : 42 Question Id : 60092912315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of the question mark?

16 - (4/6) x (6/5) of 20 4 =7
Options :



1. = 21
2.¥ 12
3.% 24
4. % 20

Question Number : 42 Question Id : 60092912315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USfaTaeh g o RITH U T {1 ST

20 PT 16 - (4/6) x (6/5) 4 ="
Options :

1. % 21

2.¥ 12

3. % 24

4. % 20

Question Number : 43 Question Id : 60092912316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among 5 numbers, first number is double of second number and three-fourth of third number. The average of 5 numbers is 55. If the sum of
remaining two numbers is 88, then find the value of the 3rd number.

Options :
1. ¥ 88
2. % 60
3. % 77
4. % 66

Question Number : 43 Question Id : 60092912316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 TReamaft o, Ugcl TR sl T 1 AT § SR st T &t JF-<hTs g1 5 Semail &1 3fd 55 31 afe AW &) Tensil &1 anT 88 3,



a1 IR XRe 1 /14 91d e
Options :

1. 88

2. % 60

3. % 77

4. % 66

Question Number : 44 Question Id : 60092912317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election X got 30 Percent of the total votes. Y got 25 Percent of the total votes. Z got the remaining votes and he got 9600 more votes than
X. Find the number of votes Y got.

Options :

1. #® 16400
2. % 15700
3. ¥ 16000
4. % 15800

Question Number : 44 Question Id : 60092912317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A | X DI S Al BT 30 UTIRId U AT| Y DI Tl BT 25 U= U §UI 2 BT AW A et 3R 3 X T 9600 317 7 et |
Y & el Il &t Tt 1d de |

Options :

1. % 16400

2. % 15700

3. ¢ 16000

4. % 15800

Question Number : 45 Question Id : 60092912318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In his final exam, a student scores 90 marks in Physics. His marks in chemistry practical exam is 26(2/3)% of his total marks in Physics. If his
total marks in chemistry is 17 less than his marks in physics. Find the marks obtained by the student in theory exam of chemistry? His total marks
in each subject are sum of his theory and practical marks.

Options :
1. ® 50
2. % 46
3. % 52
4.+ 49

Question Number : 45 Question Id : 60092912318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 31 Sifad wien o, a8 Hifda! T 90 3id UTed Il § | A1 A &1 Ui aliem & I8e 3id Hifddt 8 3°db oo 3ih! &1
26(2/3)% & | A T fagm & IU% Fd 3i Hifde! H IU& 3Pl I 17 HH ¢ | TEH fa7H Bt 2R Tien T S §RT UK 3 J1d He2
TA® v T 3P o 3idh IUb AR 3R U 3fehi &1 anT 3|

Options :

1. % 50

2. % 46

3. % 52

4.9 49

Question Number : 46 Question Id : 60092912319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram gives 4 articles free on the purchase of 6 articles and allows a discount of 2 Percent, while still earning 20 Percent profit during the whole
transaction. By what percent above the cost price he marked his articles?

Options :

1. % 122.08%
2. % 116.08%
3. % 94.08%
4. % 104.08%



Question Number : 46 Question Id : 60092912319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 6 T3 BT WG W 4 L I <l § 3R 2 U= &1 Fe Gl &, S I Aa o g it off 20 wic=ra @y sifold exar g
I SO a3 Dl AT G o fobd = Ufa=rd siferes sifard fobar am

Options :

1. % 122.08%

2. % 116.08%

3. % 94.08%

4. 104.08%

Question Number : 47 Question Id : 60092912320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hawker sold some samosas in such a way that selling price of 76 samosas is the same as the cost price of 95 samosas. Find the profit
percentage.

Options :

1. # 19 Percent
2. % 38 Percent
3. # 24 Percent
4. % 25 Percent

Question Number : 47 Question Id : 60092912320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BATd A $8 THN 39 TSR 99 o 76 TR &1 faswha ged 95 YA & AFTd Yed & T ¢ | a1 Ufa<rd J1d &3 |
Options :

1. % 19 gfa=rd

2. % 33 gfard

3. % 24 gfard

4. ¥ 25 gfaerd




Question Number : 48 Question Id : 60092912321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 years ago, the ages of Manu and Chanchal were in the ratio 4 : 3 and 4 years from now, the ratio of their ages will be 13 : 11. Find the age of
Manu at present.

Options :

1. ¥ 22 years
2. # 18 years
3. ® 26 years
4. % 16 years

Question Number : 48 Question Id : 60092912321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
6 T9 g4, A TR a0 B! ST BT U 4 : 3 AT 3R 31T Y 4 T8 FIG 3! 3T BT SIUTT 13 : 11 I T B aHMH 31T 1 B

Options :

1.¢ 2299
2. % 18794
3. % 2699
4. % 1694

Question Number : 49 Question Id : 60092912322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram and Sita invested capital in the ratio 4 : 5. The time Sita invested her money for was one year lesser than that invested by Ram. The ratio of
their profits is in the ratio 6 : 7. Find the time Sita invested the money for?

Options :

1. % 15 years
2. % 13 years
3. #® 12 years
4. ¥ 14 years



Question Number : 49 Question Id : 60092912322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 SR AT 4 ¢ 5% SIATd J Gon a1 BT | AT S0+ ¢ BT =1 0 §RT =1 fohl T 900 | T 99 &1 & g faan | S-1db
T ST 6 : 7 % SATATA A ¢ | THI J1d B forqap forg e = o= &1 Faw fasam

Options :

1. % 1599
2. % 1394
3. % 1299
4. ¢ 1479

Question Number : 50 Question Id : 60092912323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Simple interest accrued on a certain principal is Rs. 1600 in 4 years at the rate of 8 Percent per annum. What would be the Compound
interest accrued on twice of that principal at the rate of 10 Percent per annum in 2 years?

Options :

1. ¥ Rs. 2100
2. % Rs. 2150
3. ¥ Rs. 2250
4. # Rs. 2200

Question Number : 50 Question Id : 60092912323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Afd gaee W Sifold TR e, Ui ay 8 =i &1 ax 3 4 a8 § 1600 TOUE | 2 I8 J Hiaas 10 Wa=d &1 &R 9 39 gae- &
G WR 3ifoid Tehgfg SATS fdhaT g2

Options :

1. ¥ 2100 %UQ
2. % 21504
3. % 22504
4, % 2200%UU




Question Number : 51 Question Id : 60092912324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kunal gets two offers of loans from a bank and an online lending app (application). The app offered Rs. 20,000 at 20 Percent per annum
compounded annually for 3 years and the bank offered the same amount at the same rate and for the same time but on simple interest. Find the
difference between the interests.

Options :

1. ® Rs. 2,700
2. % Rs. 2,000
3. % Rs. 2,500
4. ¥ Rs. 2,560

Question Number : 51 Question Id : 60092912324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUTA DI 96 I 3R ST AT VT (URIHRA) I BT & &f HTHR fHerd g1 T 3 a1 Tehdfeg TR Ui a¥ 20 UfRId &1 X 4 3 98 &
foTT 20,000 TUT B} UG &1 3R dF = JH A B JHAF & W 3R JHH JHY & 1T A Jremor g R U fohan| sarst & o=
3R T B

Options :

1. % 2,700 ¥UY

2. % 2,000 3T

3. % 2,500 3T

4. ¥ 2,560 ¥UQ

Question Number : 52 Question Id : 60092912325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Distance between Agra and Rewa is 96 km. To cover this distance a car takes 4 hours less than a bus. Find the speed of the car, if the car is 12
km/h faster than the bus.

Options :
1. #* 16 km/h
2. % 20 km/h



3. ¥ 24 km/h
4. % 32 km/h

Question Number : 52 Question Id : 60092912325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TRT 3R a1 & & B g 96 km B 1 3T G B! AT B A HR T F 4 G HH Al g | HR B} T 1 B3, A PR TG Y 12 km/h AT B |
Options :

1. % 16 km/h

2. % 20 km/h

3. ¥ 24 km/h

4. % 32 km/h

Question Number : 53 Question Id : 60092912326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy walked a certain distance. One-fourth of the distance he walked at 10 km per hr. Another one-fourth of the distance he waked at 20 km per
hr. and the rest at 30 km per hr. Find his average speed.

Options :

1. # (230/13) km per hr
2. % (720/13) km per hr
3. ¥ (240/13) km per hr
4. % (240/11) km per hr

Question Number : 53 Question Id : 60092912326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASH] HIYd g IadT g1 T8 10 km Ul € &1 71 T G B Udp-AUTS Il | G2 BT U 3R Ub-AYTS a8 20 km U ° 1 111 I Tl
3R AW 30 km Tl ©S BT 71 & T € | ST I TIf 1 B

Options :
1. % (230/13) km Ufd &
2. % (720/13) km Ufd €



3. ¢ (240/13) km Ufd &
4. % (240/11) km Ufd €

Question Number : 54 Question Id : 60092912327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V alone can complete a piece of work in 10 days while W alone can complete the same piece of work in 15 days. To complete the work in 4 days,
Z 1s hired. The money assigned for completion of work is Rs. 900. How much money does Z earn from working on the project?

Options :

1. # Rs. 400
2. % Rs. 300
3. % Rs. 500
4. % Rs. 600

Question Number : 54 Question Id : 60092912327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V 3B T B BT 10 fEA] B R B b1 § Safs W hal I e & 15 TG & RI aR Tahar g1 4 G & 18 R 6 & forg, z )
frgart o STman 8 | o quf @ & forg srafed emRIfRT 900 39T § | z, IRESHT IR &0 HRA ¥ fhdr $ifSfd dral g2

Options :

1. % 400 >4
2. % 300 >UU¢
3. % 500 ®%UUd
4. % 600U

Question Number : 55 Question Id : 60092912328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A work had been undertaken by 60 men and was to be completed in 60 days when the men worked for 6 hours a day. But after 40 days, it was
observed that only half of the work had been completed, hence the number of working hours were made 8 and 'n' more men were employed. The
work was completed in stipulated time. Find the value of n.

Options :



1. * 20
2.9 30
3. % 40
4. % 90

Question Number : 55 Question Id : 60092912328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 T8 GRT T BIH RH fma 7mam AT 3R 60 faf § OR1 fopan ST o1 ofe g wfdfed 6 6 & o3| @ 40 &1 & aTe, g8 S@r T
{3 Hae SMTeT HTH & IR g3 YT, ST BT Tl b TJAT 8 TR &l T3 3R 'n' 3T T&W &) FAged fopan mam| v g ama g
a1 AT | n BT HH 1 PR

Options :

1. % 20

2. ¥ 30

3. % 40

4. % 90

Question Number : 56 Question Id : 60092912329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the length, breadth, and height of a cuboid box is 40 cm and the whole surface area of it is 992 sq. cm, then, what is the maximum
length (approximate) of a stick that can placed inside the cuboid box?

Options :

1. ¥ 4\38 cm
2. % 2438 cm
3. % 4434 cm
4. % 4342 cm

Question Number : 56 Question Id : 60092912329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T TR BT TS, T1ST8 3R HTS BT AN 40 em B 3R U1 Q0T GG 8FHE 992 sq. em B, A Sl B BT TS (SITATA)




18 o g TR b 3R T S obell § 2
Options :

1. ¥ 4\38 cm

2. % 2438 cm

3. % 4434 cm

4. % 442 cm

Question Number : 57 Question Id : 60092912330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of a square is 8 times the area of a rectangle. Find the ratio of diagonal of the square to the diagonal of the rectangle, if the length of the
rectangle is half the length of the side of the square.

Options :
1.% 1:\2

2. % 342: 543
3.9 4245
4. % \3:5

Question Number : 57 Question Id : 60092912330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T 1 EAHA U AHTId & &A6d &1 8 TA1 5| a7 & fashol ¥ omad & fawol &1 srurd 31d &, afg Sid &1 dars avf & AIss &
dars § et B

Options :

1.% 1:2

2. % 342543

3.9 4245

4. % 345

Question Number : 58 Question Id : 60092912331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following pie chart shows the viewership of different knowledge based channels in the month of December, 2019. There are no overlaps in
viewership of channels. During the given period, viewership of how many channels is more than 25 percent of the total viewership?

Knowledge based channels

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 58 Question Id : 60092912331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o arc fGger e, 2019 ® faftra I oerfa 37l & S=i! 3 We &1 SRl 7 | a1 & el &1 T8I H Bl St
T g1 1 TS 3rafd & SR, faran oiall & aRi! B IS Hd aRidh| BI TBHT & 25 U= I SHfUH 82




Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 59 Question Id : 60092912332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line graph is showing the number of accidents in two cities X and Y during the last six months of a year. What is the percent of difference of
the accidents in the month of august for the two cities with the total accidents of city Y?



= CityX -=CityY
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Options :
1. # 15.50%
2. % 13%
3. % 15%
4. ¥ 14.50%

Question Number : 59 Question Id : 60092912332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT UTH b T8 & 3HfdH B8 AEIHI & SR &l TR X 3R Y H gdersil &1 TB &1 g2 @I 81 WER Y B $dl guersi & 11 g gl
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Options :
1. ¥ 15.50%
2. % 13%
3. % 15%

4. ¥ 14.50%

Question Number : 60 Question Id : 60092912333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph represents number of voters participating in the election campaign from 6 different cities.

The number of voters participating in the election campaign from city N in the year 2017 is approximately what percent of the number of voters
participating in the election campaign from city O in the same year?
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Options :
1. % 75%
2. % 112%
3. % 125%
4. ¥ 133%

Question Number : 60 Question Id : 60092912333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 75%
2. % 112%
3. % 125%
4. ¥ 133%
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Question Number : 61 Question Id : 60092912334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Their decision not to publish/ them is not only cowardly,/ it is also hypocritic.
Options :

1. #* Their decision not to publish

2. * them is not only cowardly,

3. % it is also hypocritic.



4. % No error

Question Number : 61 Question Id : 60092912334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Their decision not to publish/ them is not only cowardly,/ it is also hypocritic.
Options :

1. % Their decision not to publish

2. % them is not only cowardly,

3. % it is also hypocritic.

4. % No error

Question Number : 62 Question Id : 60092912335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

We have to invest more into the space research/ and technology in order to have an industry capable / of competing with other international
players.

Options :

1. ¥ We have to invest more into the space research

2. % and technology in order to have an industry capable
3. # of competing with other international players.

4, % No error

Question Number : 62 Question Id : 60092912335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



We have to invest more into the space research/ and technology in order to have an industry capable / of competing with other international
players.

Options :

1. ¥ We have to invest more into the space research

2. % and technology in order to have an industry capable
3. % of competing with other international players.

4. % No error

Question Number : 63 Question Id : 60092912336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The war (caused not only destruction and death but generations of hatred between) the two communities.
Options :

1. ® caused not only destruction and death though generations of hatred between

2. % caused not only destruction and death though also generations of hatred between

3. ¥ caused not only destruction and death but also generations of hatred between

4. ® No correction required

Question Number : 63 Question Id : 60092912336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The war (caused not only destruction and death but generations of hatred between) the two communities.
Options :

1. # caused not only destruction and death though generations of hatred between

2. % caused not only destruction and death though also generations of hatred between

3. ¥ caused not only destruction and death but also generations of hatred between

4. ® No correction required



Question Number : 64 Question Id : 60092912337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The location was more then a mile from their given address), and we had to walk all the way.
Options :

1. # The location was more then a mile from their given address

2. % The location was more than a mile from their given address

3. % The location was more then a mile from there given address

4. # No correction required

Question Number : 64 Question Id : 60092912337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The location was more then a mile from their given address), and we had to walk all the way.
Options :

1. % The location was more then a mile from their given address

2. % The location was more than a mile from their given address

3. # The location was more then a mile from there given address

4. # No correction required

Question Number : 65 Question Id : 60092912338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The courts have, however, the right to interfere for the protection of the wife in case of any abuse of the power thus vested in
the husband.




Options :

1. % predominant
2. ¥ flagrant

3. * insignificant

4. % recalcitrant

Question Number : 65 Question Id : 60092912338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The courts have, however, the right to interfere for the protection of the wife in case of any abuse of the power thus vested in
the husband.

Options :

1. # predominant
2. ¥ flagrant
3. * insignificant

4. % recalcitrant

Question Number : 66 Question Id : 60092912339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Under the masonic aprons and he saw the uniforms and decorations at which they aimed in ordinary life.

Options :

1. ¥ insignia
2. # insomnia
3. # asthenia

4. ¥ egomania

Question Number : 66 Question Id : 60092912339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Under the masonic aprons and he saw the uniforms and decorations at which they aimed in ordinary life.

Options :

1. ¥ insignia
2. # insomnia
3. # asthenia

4. ¥ egomania

Question Number : 67 Question Id : 60092912340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

An opportunist to the last,
P. sacrificed any theological
Q. he would readily have
R. convictions he may have
S. had in the interests of

national uniformity.
Options :

1. # PRSQ

2. ¥ QPRS

3. ¥ PSRQ

4. % RPQS

Question Number : 67 Question Id : 60092912340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

An opportunist to the last,
P. sacrificed any theological
Q. he would readily have

R. convictions he may have
S. had in the interests of

national uniformity.
Options :

1. # PRSQ

2. ¥ QPRS

3. ¥ PSRQ

4. % RPQS

Question Number : 68 Question Id : 60092912341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Mandate
Options :

1. # Fizzle
2. # Stalk

3. ® Annuity

4. ¥ Injunction

Question Number : 68 Question Id : 60092912341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Mandate
Options :

1. # Fizzle
2. # Stalk

3. ® Annuity

4. ¥ Injunction

Question Number : 69 Question Id : 60092912342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Impede

Options :

1. # Unimaginative
2. % Glutton

3. ¥ Facilitate

4. ¥ Handicap

Question Number : 69 Question Id : 60092912342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Impede

Options :

1. # Unimaginative
2. % Glutton

3. % Facilitate

4. % Handicap



Question Number : 70 Question Id : 60092912343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Aleinate

2. % Aleinete

3. ¥ Alienate

4. % Allenate

Question Number : 70 Question Id : 60092912343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Aleinate

2. # Aleinete

3. % Alienate

4. # Allenate

Question Number : 71 Question Id : 60092912344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Beseige

2. ¥ Besiege

3. % Bisiege

4. # Biseige

Question Number : 71 Question Id : 60092912344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Beseige

2. ¥ Besiege

3. % Bisiege

4. # Biseige

Question Number : 72 Question Id : 60092912345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Finding Your Feet

Options :

1. # The whole thing

2. # Not willing or wanting to change from your normal way of doing something.
3. ¥ To become more comfortable in whatever you are doing.

4. % A very tasty food or meal.

Question Number : 72 Question Id : 60092912345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Finding Your Feet

Options :

1. # The whole thing

2. % Not willing or wanting to change from your normal way of doing something.
3. ¥ To become more comfortable in whatever you are doing.

4. ® A very tasty food or meal.



Question Number : 73 Question Id : 60092912346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Mum's the word

Options :

1. # Don't hurt anyone that helps you.
2. % Savings set aside for future use.
3. ¥ To keep quiet and say nothing.

4. % Nonsense or meaningless speech.

Question Number : 73 Question Id : 60092912346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Mum's the word

Options :

1. % Don't hurt anyone that helps you.
2. % Savings set aside for future use.
3. ¥ To keep quiet and say nothing.

4. % Nonsense or meaningless speech.

Question Number : 74 Question Id : 60092912347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Giving or being a sign of (something that will happen or develop in the future)
Options :

1. % Coalition

2. # Stray



3. % Trespass
4. ¥ Presage

Question Number : 74 Question Id : 60092912347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Giving or being a sign of (something that will happen or develop in the future)
Options :

1. # Coalition

2. % Stray

3. ® Trespass

4. ¥ Presage

Question Number : 75 Question Id : 60092912348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Groups of people who are doing something together
Options :

1. % Vanguard

2. % Embassy

3. % Platoon

4. ¥ Syndicate

Question Number : 75 Question Id : 60092912348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Groups of people who are doing something together



Options :

1. # Vanguard
2. % Embassy
3. % Platoon

4. ¥ Syndicate

Sub-Section Number : 2
Sub-Section Id : 600929801
Question Shuffling Allowed : Yes

Question Id : 60092912349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Every ten years, in years ending with a zero, the U.S. Census Bureau counts all the people in the United States. The creation of a census is a
process required by the U.S. Constitution. The results of the census are used to distribute government money and to allocate seats in Congress.
The seats in the House of Representatives are allocated according to population. The population of your state determines how many seats your
state has.

The first census of the United States was taken in 1790. At that time, there were an estimated 3,929,214 people in the United States. This estimate
is low because the census records for five states were missing. In addition, slaves and Indians were not counted. At that time, the census was
intended to show how many men were available for military service. By the time of the tenth census in 1890, the population was estimated to be
50,189,209. In 1920, at the time of the fourteenth census, the population first topped 100 million. The 1920 population was estimated to be
106,021,537. 1950 was the first time a computer was used for the census. The new room-sized computer named ENIAC was used for parts for
the count. In fact, the Census Bureau acquired its own computer, named UNIVAC, during that era. By the year 2000, there were 281,421,906
people in the United States. That information was gathered using high—speed supercomputers, quite a difference from the 200 men who travelled
throughout the country on horseback gathering information for the first census!

Sub questions

Question Number : 76 Question Id : 60092912350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the first census taken?
Options :

1. ® 2000



2. %1970
3. %1790
4. % 1920

Question Number : 77 Question Id : 60092912351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What purpose did the first census serve?

Options :

1. # To have the data of slaves and Indians.

2. % To determine the number of seats a state gets.

3. % To have the overall population data of the United States.

4. ¥ To have the data of number of men available for military services.

Question Number : 78 Question Id : 60092912352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During which census the population of the United States topped 100 million?
Options :

1. # Tenth

2. ¥ Fourteenth

3. % Eighteenth

4. ® Twentieth

Question Number : 79 Question Id : 60092912353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.
Options :

1. # The United States conducts a census every 10 years.

2. % In 1940, at the time of the fourteenth census, the population first topped 100 million.
3. # The first computer used for census was ENIAC.

4. ® The first recorded population data at the time of first census was not accurate.



Question Number : 80 Question Id : 60092912354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is responsible for conducting the process of Census in the United States?
Options :

1. % United States Military

2. % U.S. Constitution

3. ¥ U.S. Census Bureau

4. % Congress

Question Id : 60092912349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Every ten years, in years ending with a zero, the U.S. Census Bureau counts all the people in the United States. The creation of a census is a
process required by the U.S. Constitution. The results of the census are used to distribute government money and to allocate seats in Congress.
The seats in the House of Representatives are allocated according to population. The population of your state determines how many seats your
state has.

The first census of the United States was taken in 1790. At that time, there were an estimated 3,929,214 people in the United States. This estimate
is low because the census records for five states were missing. In addition, slaves and Indians were not counted. At that time, the census was
intended to show how many men were available for military service. By the time of the tenth census in 1890, the population was estimated to be
50,189,209. In 1920, at the time of the fourteenth census, the population first topped 100 million. The 1920 population was estimated to be
106,021,537. 1950 was the first time a computer was used for the census. The new room—sized computer named ENIAC was used for parts for
the count. In fact, the Census Bureau acquired its own computer, named UNIVAC, during that era. By the year 2000, there were 281,421,906
people in the United States. That information was gathered using high—speed supercomputers, quite a difference from the 200 men who travelled
throughout the country on horseback gathering information for the first census!

Sub questions

Question Number : 76 Question Id : 60092912350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the first census taken?
Options :



1. ¥ 2000
2. %1970
3.9 1790
4. % 1920

Question Number : 77 Question Id : 60092912351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What purpose did the first census serve?

Options :

1. # To have the data of slaves and Indians.

2. # To determine the number of seats a state gets.

3. # To have the overall population data of the United States.

4. ¥ To have the data of number of men available for military services.

Question Number : 78 Question Id : 60092912352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During which census the population of the United States topped 100 million?
Options :

1. # Tenth

2. ¥ Fourteenth

3. # Eighteenth

4. # Twentieth

Question Number : 79 Question Id : 60092912353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.
Options :

1. # The United States conducts a census every 10 years.

2. ¥ In 1940, at the time of the fourteenth census, the population first topped 100 million.



3. % The first computer used for census was ENIAC.

4. # The first recorded population data at the time of first census was not accurate.

Question Number : 80 Question Id : 60092912354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is responsible for conducting the process of Census in the United States?
Options :

1. # United States Military

2. % U.S. Constitution

3. ¥ U.S. Census Bureau

4. # Congress
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Question Number : 81 Question Id : 60092912355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdshey &1 9u &3 off fou U Y - fawde Wsg & &1 IfY &1 fasheu 3
g+ i

Options :

1. ¢ Wi
2. % It
3. % Wl
4. % Tt

Question Number : 81 Question Id : 60092912355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 faehey &1 9u 3 off fau U IfY - fowde Wsg & &1 IfY &1 fashey 3|
gwr@r

Options :

1. ¢ Wi
2. % JaKil
3. % it
4. % Tl

Question Number : 82 Question Id : 60092912356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 fasmedl o 9 39 fadwed &1 997 1 S fau U 9fY 2rsg & Tt IfY- fawe &1 fawe g
garaq

Options :

1. % 94 + SHaH
2. % gd+ 9
3. T4 + IqH
4. % g1 +qH

Question Number : 82 Question Id : 60092912356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faseal & § 39 faswey &1 79 3 off 3T 7 TfY Trsg & Tet IfY- fa=se o1 faweu g
Jarad

Options :

1. % g4+ HaH
2. % 94 + |
3. T4 + IqH
4. % &1 +qH

Question Number : 83 Question Id : 60092912357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmeal # O I Ay o1 T8 & Sl Y19 arIe I &1 96t fadwed g
Options :

1. % gaaH

2. ¢ TR

3. ¥ g}

4. % Glefl




Question Number : 83 Question Id : 60092912357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl § ¥ 39 f[dwed &1 98 &< Sl YTd arae 4311 &1 ! [ddbed g
Options :

1. % gdHH

2. ¢ TR

3. ¥ X

4. % Glefr

Question Number : 84 Question Id : 60092912358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fAshey &1 987 B3 off FHYRY AT &1 el fabed g
Options :

1. % qHHE TN

2. ¢ HEH § &l g3

3. % U 3Tl T GHIGR

4. % 3BT YRT

Question Number : 84 Question Id : 60092912358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashed &1 70 B3 off FHYRY A &1 el fadhed g
Options :

1. % qHH ™

2.« HEM & S I3

3. % U 3Tl T GHIER

4. % 3 P YRT




Question Number : 85 Question Id : 60092912359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 99- &< Sl fAU T4 Xt - T & 31 &1 Hg! fadhed g

Options :

1. % gdl, AT

2. % QIR HYT

3. ¢ DRI fee
4. % 3T, T

Question Number : 85 Question Id : 60092912359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 faswedl o @ 39 faded &1 997 3 Sl AU U Wsg - g & 31 &1 Hg fadhed g

Options :

1. ® g4I, 31

2. % GQRLHYT

3. ¢ S fgen
4. % 3, fexr

Question Number : 86 Question Id : 60092912360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fawed &1 98- &< il 9160 &1 Y T 6:
Options :

1. % I 81U B e |

2. % I TAATG |

3.¥ QR R P T ?




4. % T Igd TR 3|

Question Number : 86 Question Id : 60092912360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # 9 39 oy o1 T8 &< Sl 9160 &1 Y T 6
Options :

1. % I BIY I IS |

2. % R TAATG |

3./ AR FERE?

4. % T S5 TR T |

Question Number : 87 Question Id : 60092912361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 famedl & @ 39 fadhey &1 9a 3 off AT 1T Xreg &1 Tat gamndf fawey 7Y g
HIR

Options :
1. * SITRI00
2. % Ydg
3. % fau
4. % HYY

Question Number : 87 Question Id : 60092912361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fawed o1 Ta & ol 3T T e &1 et gamef fawed 78 g
HWR

Options :
1. % §TgIul




2. % Ydg
3. % fay
4. Y

Question Number : 88 Question Id : 60092912362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl 8 ¥ 39 fawed &1 98- &< il fAU T e &1 To! faed s &1 fadhed g
3ot

Options :
1. % Udd
2. ¢ 300
3. % 3Ahd
4. % 3aR

Question Number : 88 Question Id : 60092912362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fasey &1 90 &3 o faU TN Wreg &1 T&! fadiH Wee &1 faswey 3
3iof

Options :
1. # Udd
2. « 3ol
3. % 3Ahd
4. % 3aR

Question Number : 89 Question Id : 60092912363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faseal § O 39 Aoy o1 g4 &3 o fou TN 919 & Uel & A &1 T8t faswed g




a8 3fd AP PP WA gD 6 |
Options :

1. % 3RY Idd

2. % fAgdrEde

3. % DRI EAd®

4. ¢ QUIATEIAS®

Question Number : 89 Question Id : 60092912363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashed &1 90 &3 o faU 71U 910 & Uel & N &1 el fadbed g

dg 3§ d% B! W gHI & !
Options :

1. % 3RY Irad

2. % arde®

3. % UOIfd db

4. ¢ QUIAEIA®

Question Number : 90 Question Id : 60092912364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # O 39 fadwed o1 994 &3 off 3T TN 9160 & g &4 &1 fdded g
Options :

1. % A % g g |

2. ¢ R AN T15 |

3. % A SAAT G |

4. % TEHH A AT G |

Question Number : 90 Question Id : 60092912364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fadwed o1 904 o3 o 3T TN 9160 & g & &1 fdded g
Options :

1. % AT R g g |

2. ¢ IR A 15|

3. % GE A TAAT G|

4. % TEHHEHI PTG |

Question Number : 91 Question Id : 60092912365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 99 3 off AT 7T 9199 & YR & e &1 el fabed g
gg oIl 59, S @d H =R 8 o, e | by ot |

Options :

1. ¢ Ty ar

2. % Igod a1
3. % O A

4. % MAYH aTF

Question Number : 91 Question Id : 60092912365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faseul § O 34 faseu o1 794 &3 o foU TN a1 & TR & Ue &1 Tal fadbed g
gg BTl HY, Sl @d 7 TR I8 ot e\ Bt ot |

Options :

1. ¢ Oy gt

2. % ggad I
3. % A I

4. % YD AT




Question Number : 92 Question Id : 60092912366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl 8 ¥ 39 fawed &1 98- &< il faT 70 GgTar & Tg! 3 &1 fadwed g

3 ST

Options :

1. % g3 gHiad g
2. % gDl

3. % g4 S Y BT
4. ¢ 9HR ¥ fergH

Question Number : 92 Question Id : 60092912366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 997 &< Sl faT T geTak & Tat o &1 fawey g

EERUE

Options :

1. * o gHied g
2. ® Bl

3. % U9 $B Y HAT
4.« 9HR | ferg

Question Number : 93 Question Id : 60092912367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 34 fadhe &1 987 3 off AU U Aieifaa & el o &1 fawea g

TRo d1d SRYd T8 &
Options :




1. % Wraqst g
2.« Qi & ufad AR Rrarar g
3. % Adad Aeran

4. % TG

Question Number : 93 Question Id : 60092912367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & 9§ 39 fashey &1 987 B3 off AU U Aiwifaa & gl o o1 faweu g

TR dTd SRYd Ta! &

Options :

1. % Iaradd! gHl

2. « Ifaa g1 safad fRe frara 8

3. ® AdAd HhTaT

4. % 9

Question Number : 94 Question Id : 60092912368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fashe &1 9u7 B3 o foT U Aieifaad & gl 3if 1 faweu g
3fel H BT TS

Options :

1. % 9gd @RI

2. % gAd gl

3. v U@l § oA fagr 1} Sy AT Srar 8

4. ® SeReXd dGdl ol

Question Number : 94 Question Id : 60092912368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



7 ol & @ 39 fdshey &1 987 B3 o foT U Aieifaa & gl 3if 1 faweu g

3ieff H ST I
Options :

4. ® SeReXd dGl ol

Question Number : 95 Question Id : 60092912369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fawed &1 9a- &< il Tg! v fog gad ared &1 faded g
Options :

1. % I 30 U1 B g9 o AT 3 IUr fobT U 9 Id Mhal gU |

2. % 3T U GTd Pl 9 o oY 3 IUN fhT ; U 9 qd ohdl g

3. ¢ 3 U A1 DI T & [o1E 3 U fhT ; R d a Foha gU |

4, % IY 30 AT B g9 & [T 3% IUM fbl! URg d I fAwhd g |

Question Number : 95 Question Id : 60092912369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 fasmedl o 9 39 faded &1 997 &< S 9g! farm g ot a1 &1 faded g
Options :

1. % IY 30 HI B FaM & [T 3D I fbT .o d Td %hd §U |

2. % I YA U1 B! g9 & AT 3 IUT fbu ; TR I I F9pat gu

3. ¢ JY 30U A1 DI M & T 3 U U ; IR d 99 Awha g |

4. % I U U1 B g9 o AT 3 IUr fob T iR 9 I fAvhd gU |

Sub-Section Number : 2
Sub-Section Id : 600929803
Question Shuffling Allowed : Yes




Question Id : 60092912370 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

= fou 7T e P earydes ue 3R IR T vt o1 et SR H|
Al SIS & 0 B aad H orgl G [IaTed 3R Hicsl §¢ 5| Thd 3R Bicrol &b TH BT BT Ul A gRI AHd g1 U g | fay

& gt faaeif sif7arg= Rien &1 SAHTA FHRab YT S PR TR ¢ | S-S I8 BT A TN SIS 3w ave I GHF IR 8| 3R
TS TS {1 T 81T al U8 T UgTs e} T8 Sl 3TR dRIs! 9= Ug el UTd | 3{Tams Rief UeH &1 & forg Rieen! o1 g
HRP B DI TG o o8 Tiae RIM T ST g Usdl & | 398 IHT 3R U &1 99d glall ¢ | BT TaT R 30 Jaurgar ot
UgH 3R UGH &1 99T 3G Ihd & | 9H surei SR sirawgs Il 3Fds WehiH & A1eaH Q UeH &) Sildl g, a1 ST 3T 3
3T TR TR R I Ug o | faS=N & Fs ryd! Rief! & ek ! B HRA A1 fodlt off S H &R o6 I SR J0g 9ohd & | 3ATHarzA
1817 T Th 3R HEd &, 3T 3T ATTATS I B RpI1ST HR Tobd g | 3R 3 $S Yo ST <l 91¢ H 3 T B3P THY IHhd g
&ﬁaﬁq?ﬂ?%gﬁn B DI IoTE T B T fhdlt UHR D1 AHT B g2 R Tobd g | 3FTa g H fagmdff 37 srgasl srse &t
AAID! A IS |

Sub questions

Question Number : 96 Question Id : 60092912371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{iTerTS T FRI& ¥ 1 A1 8idl 87

Options :

1. % fRraepl &1 =1 g Ul

2. % B N STt ugha &1 8

3. ¢ YA SI3C BT faetdR BT, RBITST HRUTT

4. % P T3 fFTaR T8t

Question Number : 97 Question Id : 60092912372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TTArg I8 3R =g gidl ol |1 g1

Options :



1. % T H 3y 3ih U 81 |
2.  faamff e 9 dferd g1 9ird |
3. % R Y YG UId |
4. % B e St

Question Number : 98 Question Id : 60092912373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tiqed ' T 31 R §?

Options :

1. ¢ {4

2. % gHR

3. % fafiR

4. % g

Question Number : 99 Question Id : 60092912374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3=de 1 31T fac Rl 2reg 182
Options :

1. % B3 faurey

2. ¢ AIDBSI3 ,3AAS

3. % BF SN

4. % S{HT HbT

Question Number : 100 Question Id : 60092912375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTwse o fod Ifud e o
Options :

1. ¢ 3(erT3 e b7 Hgd

2. % dibera H fRuaf



3. % @lpsIa 3R e
4. % AT 12781

Question Id : 60092912370 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

= fou 7 Y P earydes ue 3R IR T vt o7 watad SR |

SIS & 58 HioH g H Sfgl Fuit farernerd ik iest dc ¢ 1 Tl 3R Diciol & Gl Hefefl Bl Ugrs Siars gRI §+d 81 e | fay
& gt faanef sif7arg= Rien &1 SAATA FHRab YT S PR TR ¢ | S-S I8 BT A AT SIS 3w ave I GHF IR 8| 3R
W&Wmmm@ma‘ru@wwﬁawwwmsﬁ?mmqw%ﬂﬁqﬁlalﬂmlsdﬁr&nquoberi%ﬁ«miﬁ&mﬁuﬁn
HRP BT DI TG o (o8 T RIM T ST g Usdl & | 398 THT 3R U &1 99d giall ¢ | BT TaT R 30 Jaurar ot
Te- 3R UgM &1 JHT T¥ Ahd ¢ | Tt e SR 31azgs ArRh SIHas- Wehd & T1ed I UgH &1 Sl 6, dlids S STt 4
3T TR TR IR QU T | TN & S v Rier! & daer &) o YRd 31 it f 32 & R 98 G 3R 99 9eha 21 SHfTerns
1817 T T 3R HEd &, 3T 3T ATTATS I B RpI1ST HR Tobd g | 3R 3N $S YW ST <l 391G H 3 T HP THY IHhd g
W@%ﬁlﬂ%ﬂ?@ﬂwwﬁdwsﬁwﬁWWWﬁWHﬁQTWW%IWwﬁﬁwﬁﬂéﬂﬁﬂéwﬁ
AR I IS |

Sub questions

Question Number : 96 Question Id : 60092912371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{iTerTS T FRI& ¥ 1 A1 8idl 87

Options :

1. % fRI&pl & A1 YA Ul

2. % B H STt ugha &1 8

3. ¢ YA SI3C BT faerdR BT, RBITST HRUTT

4. % P T3 fFTaR T8t

Question Number : 97 Question Id : 60092912372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3TTeTS fRI&T 3R e gia <t o g
Options :

1. ® Uden T 3= 3fch U BId |

2. Tt Rren ¥ dfed g1 ofrd |

3. % 3R Y UG UId |

4. % BT e St

Question Number : 98 Question Id : 60092912373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tiqed ' T 31 R §?

Options :

1. ¢ {H

2. % gHR

3. % fafiR

4. % 94

Question Number : 99 Question Id : 60092912374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
35S I U fad=h 2o Fn &2
Options :

1. % i fagme

2. ¢ ADBSIS S

3. % BH &

Question Number : 100 Question Id : 60092912375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 & foe Ifad e o)

Options :



1. ¢ 3T U8 &1 Hgd
2. % dAldersd H fRuem

3. ® FlhSIa 3R e

4. % AT 278

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 60092912376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Disciplinel

6
600929515
0

0

No

No

0

20

No

Disciplinel

600929670
1

Online
Mandatory
20

20

20

Yes

1
600929804
Yes



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which light is the most effective for Photosynthesis?
Options :

1. # Orange

2. # Violet

3. % Green

4. ¥ Pink

Question Number : 101 Question Id : 60092912376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THTRI-HRANUT & foT D 1F-1 U TRT Halferd YuTdt 52
Options :

1. % At

2. % SR

3. Xl

4. % T[QTS!

Question Number : 102 Question Id : 60092912377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a species of photosynthetic macroalgae.
Options :
1. ¥ Chlorophyta
2. % Pyrrophyta
3. # Udotea flabellum
4. % Euglenophyta

Question Number : 102 Question Id : 60092912377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



THTRT =TS TS RaTd & offfd g |
Options :
1. ¥ FARIBISCT
2. % TgRIBISCl
3. % Jsifear uaaaH
4. % QAHIBISC

Question Number : 103 Question Id : 60092912378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Energy can be

Options :

1. ¥ Transferred
2. # Destroyed
3. # Created

4. % Broken

Question Number : 103 Question Id : 60092912378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sl RAEEDIE

Options :

1. ¢ RJHIdRd

2. % Gigd

3. % fAftfa

4. % fqgfed

Question Number : 104 Question Id : 60092912379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The official, internationally accepted energy unit for scientific work is known as




Options :

1. # Calorie

2. # International Unit
3. % Kilowatt

4. ¥ Joule

Question Number : 104 Question Id : 60092912379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR BT b T SRABTRSD, STRRPTI TR W Wipd Sl 3bTs P & ATH I ST ST gl
Options :

1. % Har
2. % JRIT TS
fataic

3. %

4. a

Question Number : 105 Question Id : 60092912380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the following devices, in which equipment two heat exchangers are used instead of one?
Options :

1. # Television

2. % Refrigerator

3. ¥ Boilers

4. % Oven

Question Number : 105 Question Id : 60092912380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRfIfed SuHRun & 3 g IuHRU H U & W R 1 ST fAFHR—IR! 1 JaNT fhar Sirar g2

Options :



1. % Tofde
2. % URifaA
3. ¢ 9%
4. % 3Ngq

Question Number : 106 Question Id : 60092912381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The push or pull on an object with mass that causes it to change its velocity is known as

Options :

1. % Mass Weight
2. # Pressure

3. # Gravitation
4. ¥ Force

Question Number : 106 Question Id : 60092912381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S aTel fhdt avg WR Yaw! a1 g forids HRUT IUHT T Sad ol § 39 FHET a8
Options :

1. % GqUHIT HR

2. % g9

3. % TTSATHYUI

4. ¢ dd

Question Number : 107 Question Id : 60092912382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The region where the probability density function reduces to zero is known as

Options :
1. # Point Surface



2. % Nodal Surface
3. # Zero Surface

4. ¥ Negative Surface

Question Number : 107 Question Id : 60092912382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 &7 STl Middl 99 - Y Y 8 oIl 3, & 1§ ST ST |
Options :

1. % fdg ude

2. ¢ AISd Al

3. % YU Yde

4. % BUTHD Udg

Question Number : 108 Question Id : 60092912383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases can be caused due to deficiency of Vitamin E?
Options :

1. # Asthma

2. % Dysphagia

3. ¥ Infertility

4. % Diverticulosis

Question Number : 108 Question Id : 60092912383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 o 91 I 3e1fBq E &t ol 9 81 9ohdi 52
Options :

1. ® QHI

2. % fSTHTomm



3. ¢ 3faRdl
4. % SZACHAR

Question Number : 109 Question Id : 60092912384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bakery and confectionary food industries should widely use hydrogenated fats because:
Options :

1. # It can be reused

2. # Is cheap in cost

3. % Is easily available

4. % Increases flavour

Question Number : 109 Question Id : 60092912384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R T Wy IR B! TS FU I g oI d a4l BT ITIRT AT dTeT Fifh:
Options :

1. % TP Y SUTNT foba T Gl &

2. % INTGH I8

3. % M) A Iudy B

4. WG STl §

Question Number : 110 Question Id : 60092912385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct option consisting of 2 Non- Essential Amino Acids.
Options :

1. #* Leucine, Isoleucine

2. % Glycine, Proline

3. # Valine, Methionine



4. # Lysine, Tyrosine

Question Number : 110 Question Id : 60092912385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 TR-3Ma=T® SHAT 3T I gad el [adhed &1 T He |
Options :

1. % g, STgAIgRH

2.« TARRM, Uifer

3. % dfer, AR

4. % QISRM, TRRIRA

Question Number : 111 Question Id : 60092912386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which mineral causes Hypernatremia?
Options :

1. # Calcium

2. # Phosphorus

3. ¥ Sodium

4. % Magnesium

Question Number : 111 Question Id : 60092912386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Y WS & HRUT GIRURC AT 81T 82

Options :

1. % pfeEd
2. % BRHRY
3. ¢ Gifsay
4. % TAREH




Question Number : 112 Question Id : 60092912387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dark greenish discoloration in hard boiled eggs is due to the combination of

Note: For this question, discrepancy is found 1n questlon/answer So,this

question 1s 1gnored for all candidates.
Options :

1. Sulphur and oxygen
2. Sulphur and Iron

3. Hydrogen and sulphur
4. Carbon and Oxygen

Question Number : 112 Question Id : 60092912387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 39 3 T T §Y T BT HieHIdRul & YIS & HRUT A1 8|
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. i SR e

2. iy 3R e

3. BIZSIoH 3R Te/h

4. BT AR SHiaIor

Question Number : 113 Question Id : 60092912388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parboiling in rice increases which Vitamin?



Options :

1. ¥ Thiamine

2. # Riboflavin
3. # Pyridoxine

4. % Pantothenic acid

Question Number : 113 Question Id : 60092912388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Irad H g IaTd ¥ [ faeTfie &1 9fg gl 82
Options :

1. ¥ YIgie

2. % Raifa

3. % URIISieRiA

4. % UGS 3R]

Question Number : 114 Question Id : 60092912389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the options given below, is the by-product in the manufacturing of sugar.
Options :

1. % Palmyra

2. ¥ Molasses

3. % Propolis

4. % Compotes

Question Number : 114 Question Id : 60092912389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I feu e fawedi 7 9, YER & FHT H IU-IAMG 6|

Options :



1. % GRITT WoR (UTHIR)
2. ¢ TR

3. % giOifery

4. % HIACH

\

Question Number : 115 Question Id : 60092912390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many stages we have in the life span of Human development?
Options :

1. % 4

2.%3

3.%5

4. ¥ 8

Question Number : 115 Question Id : 60092912390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd fd™ & Sita- B1at | §HRT fara-T /a1 gl 82
Options :

1. % 4

2.% 3

3.%5

4. ¥ 8

Question Number : 116 Question Id : 60092912391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the duration of neonatal period ?
Options :

1. % From birth to 14 days



2. % From birth to 28 days
3. % From birth to 50 days
4. # From birth to the end of 1 year

Question Number : 116 Question Id : 60092912391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A BTd T A T 52

Options :

1% S99 147 d®

2.« T Y 28 fdT do

3. % S 50 lgA ad

4. % FHY 1 99 & 3d dD

Question Number : 117 Question Id : 60092912392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Non modifiable factor that does not influence Human growth is

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Hereditary Factor
2. Weather

3. Exercise

4. Diet

Question Number : 117 Question Id : 60092912392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR-URGIHIT HRP S A4 f9bT BT gHIad 781 HaT 8, a8 gl




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. IR BRD

2. g |

3. M

4. IER

Question Number : 118 Question Id : 60092912393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, who believes that knowledge of an accurate pattern of development is fundamental to understanding of children?
Options :

1. # Developmental Physiologist

2. ¥ Developmental Psychologist

3. # Developmental Environmentalist

4. ® Developmental educationalist

Question Number : 118 Question Id : 60092912393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tu Riwedl A 9, S 7T 8 i 9 3t 9die et o1 I s=i 1 gHd & forg Aifers 82
Options :

1. % fqeTaTds RRIHaTaHS

2. ¢ fAPTaTES FAaTNG

3. % famrras gafavufag

4. % fprMTEs Renfag

Question Number : 119 Question Id : 60092912394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What does growth mean?

Options :

1. # Growing in size only

2. # Growing in appearance

3. # Growing emotionally intellectual

4. ¥ Growing in physiological and structural change

Question Number : 119 Question Id : 60092912394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfa w1 3 g2

Options :

1. % $ad PR H gfg

2. % fdEAH gfg

3. % YGgATHD ¥U I e g

4. ¢ IRING 3R IS gRad H gfa

Question Number : 120 Question Id : 60092912395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given options are determined by parental education, occupation and income?
Options :

1. ¥ Socio-economic status

2. % Wealth status

3. # Fame status

4. ® Ascribed status

Question Number : 120 Question Id : 60092912395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fyeweat & § B I1 vrar-far & e, aar 3R 3 g1 fRuifed faar s g2




Options :

1. T ST fRyfer

2. % Y RRUfa
3. * URifg fRufa
4. % g fyfd
Discipline2
Group Number : 7
Group Id : 600929516
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 600929671
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929805
Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 60092912396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the two main languages of fifth generation computers?
Options :

1. % Python & Java

2. # Ruby on Rails & HTML

3. ¥ LISP & Prolog

4. % PHP. & SQL

Question Number : 121 Question Id : 60092912396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Oiad! SFRRH & HER Bl G- HINTE B 1 62
Options :

1. % UraY 3R San

2. % Y W Fa 3R HTML

3. ¥ LISP 3R UIdnT

4. % PHP. 3[R SQL

Question Number : 122 Question Id : 60092912397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the central processing unit consist of?
Options :

1. ¥ Arithmetic Logical Unit & Control Unit

2. % Input Unit & Output Unit

3. * Input units & Control unit

4. % Mouse and Keyboard

Question Number : 122 Question Id : 60092912397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Hod Uk gfe o o1 2nfi 82
Options :

1. ¢ 3rfafes qifore gfie sik deld gfie
2. % FIYE gHe 3R 3f3eye gfe

3. % $IYC e 3R eld gfHe

4. % TI3Y AR Bals

Question Number : 123 Question Id : 60092912398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is another name for Abacus?
Options :

1. ¥ Mathematical beads

2. % Counting Frame

3. # Loops and Beads

4. ® Bony frame

Question Number : 123 Question Id : 60092912398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT gERT 14 &1 82

Options :

1. % TR 7ee AyRfewd dte)

2. ¢TI0 il

3. % U AR TS

4. % §H1 A

Question Number : 124 Question Id : 60092912399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which mathematician became famous for his invention of logarithms?
Options :

1. ¥ John Napier

2. # E. Gunter

3. # QGottfried Leibniz

4. % Blaise Pascal

Question Number : 124 Question Id : 60092912399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 TIOR3 TGS & HTTSHR & oIE TRig gam
Options :

1. ¢ S AR

2. % 3R

3. % WIS Adfey

4. % I URepA

Question Number : 125 Question Id : 60092912400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are used by Second generation computers.

Options :

1. # Vacuum tube

2. # Integrated Circuits
3. % Transistors

4. % Microprocessors

Question Number : 125 Question Id : 60092912400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT SUANT GHRT STRRE & HERI gRI fha1 S g

Options :



1. % faid Tent

2. % Thipd URTY
3. ¥ QiR

4. % ATSHIURIER

Question Number : 126 Question Id : 60092912401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a moveable ball mounted on a stationary device, which can be rotated manually by using fingers.
Options :

1. # Joystick

2. ¥ Trackball

3. % Para ball

4. ¥ Point Ball

Question Number : 126 Question Id : 60092912401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fRR USRI IW 7Y TR g &7 911 Fa1sy, SR 7ol &1 SUai dres g1d ¥ (H-g3id) U I a1 off 9l g |
Options :

1. ® SaRe®d

2. ¥ THEA

3. % QA

4. % WEe did

Question Number : 127 Question Id : 60092912402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mathematician whose theory has formed the core of nearly every computer system in use today is
Options :

1. # Blaise Pascal




2. #* QGottfried Leibniz
3. % John Von Neumann
4. # John Napier

Question Number : 127 Question Id : 60092912402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TIOTaT foraes RIGid 3 SIS START §1 X8 AT e e JuTelt &1 Hd ST §, 98 gl
Options :

1. % &iol UReba

2. % TEWHIS Adfest

3. ¢ S AT

4. % S A3

Question Number : 128 Question Id : 60092912403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Documents having similar specific characteristics are:
Options :

1. # Fonts

2. ¥ Genres

3. % Paragraphs

4. % Sentences

Question Number : 128 Question Id : 60092912403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o fafRry faioarei ard e € -

Options :

1. % ggfafu

2.« faer



3. % =g

4. % dig

Question Number : 129 Question Id : 60092912404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not necessarily required while writing technical English?
Options :

1. % Research

2. # (Critical Thinking

3. % Computer

4. # Use of writing tools

Question Number : 129 Question Id : 60092912404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad 5 3 o1 9 ae-ie! s ferad T siavas -8t 82
Options :

1. % 3JIYH

2. % STAlHTHD fora

3. ¢ YR

4, % G YAl DT ST

Question Number : 130 Question Id : 60092912405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While writing a letter, which skill saves maximum money and time?
Options :

1. % Listening skills

2. # Documentation skills

3. % Communication skills



4. ¥ Writing Skills

Question Number : 130 Question Id : 60092912405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U7 forad T9g, 1 91 SINd f¥ead 9 3R JHY 97T 82
Options :

1. % 49U BRI

2. % THITASIHRUT DI

3. % AR DI

4. TG HIRA

Question Number : 131 Question Id : 60092912406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In addition to knowing the needs and interests of your readers, what is another thing from the following that we should know ?
Options :

1. ¥ Context

2. % Content

3. % About author

4. ¥ Preface

Question Number : 131 Question Id : 60092912406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T UTGH] &1 SRed! 3R SRl B S & 3frar, Ffafad § T ue 3R 910 318 S 89 Ul g+t a1fee?
Options :

1. ¢ ded (@)

2. % g ($Ce)

3. % AWD b IR H

4. % Wby




Question Number : 132 Question Id : 60092912407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name 2 indefinite articles in technical writing in English.
Options :

1. # Asand If

2. % They and Their

3.% Aand An

4. % Dear and Respected

Question Number : 132 Question Id : 60092912407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{USf § depeitep! o H 2 SHATHT ol & A TSy
Options :

1. % TH AR IB

2. % ¢ IR TR

3.V TR

4. % fEaR SR acs

Question Number : 133 Question Id : 60092912408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most appropriate word to be used while referring to a preceding passage?
Options :

1. ¥ Above

2. % Up

3. % Upward

4. # Upstairs

Question Number : 133 Question Id : 60092912408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forit qdac TR T e B T UGN faraT ST el Had Sugad Weg I 91 82
Options :

1. ¢ W

2. % FW

3. % 39

4. % JFW

Question Number : 134 Question Id : 60092912409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Synonym in English writing means:

Options :

1. # Use rhyming words.

2. % Words or phrases meaning the same thing.
3. # Use words repeatedly.

4. ® Using a new pen and board to write.

Question Number : 134 Question Id : 60092912409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l H TG ar Wea o B 3y

Options :

1. % Jhid Xsal & T dRAT G|

2. ¥ e 1 ATRIRT U o1 3 5

3. % Tql B IR-IR TN HRAT G|

4. % orE & 1T U OFF SR I &1 JudIT HRAT 5|

Question Number : 135 Question Id : 60092912410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most fundamental contextual factor affecting HR policy?
Options :

1. ¥ Legal Context

2. # Documental Context

3. # Paper Context

4, % Administrative Context

Question Number : 135 Question Id : 60092912410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad & 9 SH HR T & THIfad S aren Tad Hifcle URifiTs RS &2
Options :

1. ¢ BT Hed

2. % gXIIdoll Hed

3. % oy ey

4. % YRS dad

Question Number : 136 Question Id : 60092912411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human Resource Management has undergone a steady process known as
Options :

1. % Privatization

2. ¥ Professionalization

3. # Liberalization

4. % Minimization

Question Number : 136 Question Id : 60092912411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIa S Yeie U RR Ufehan ¥ ToRT 3 for g1 9Tl &:



Options :

1. % At

2. « HGIIIHRT
3. % JGRIDHRUI

4. % gAaH

Question Number : 137 Question Id : 60092912412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

American Society for Training and Development (ASTD) does not identify as an area of HRM.
Options :

1. ¥ Casual leaves management

2. % Training and development

3. # Selection and staffing

4. ¥ Employee assistance

Question Number : 137 Question Id : 60092912412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR RS BR ¢ TS Saaudc DI HRM & &5 & ¥U H UgaH g HRa g
Options :

1. ¢ 3TH D el Y8

2. % UfR1&fur g faepry

3. % g 3R Wit

4. % HHIR gTId!

Question Number : 138 Question Id : 60092912413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A “collection or aggregation of tasks, duties and responsibilities which as a whole, are regarded as a regular assignment to individual
employees,” is known as



Options :

1. ¥ Work

2. # Management
3. ¥ Job

4. # Load

Question Number : 138 Question Id : 60092912413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HTY, Heieal R FERAY 61 TUE T1 UHAIHu, o 9 =0 T, ufaaid sHenial & fau Hafid $rduR & 0 & a1 9 g, 39
& &Y H SH ST g |

Options :

1. % B

2. % gy

3. ¢ B

4. # YR

Question Number : 139 Question Id : 60092912414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will fetch the highest rate of returns?
Options :

1. # Fixed deposits with nationalised banks

2. % Public Provident fund

3. % Savings accounts with private banks

4. # Recurring accounts with post office

Question Number : 139 Question Id : 60092912414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufifad o 9 &9 ufawd 1 I=aq = Ut B9

Options :




1. % IPTIPd dobi | fthaws feuTfore
2. ¢ gl Higsg [AfY
3. % fao) 9! A sad @

4. % SIHWR W 31adf @I

Question Number : 140 Question Id : 60092912415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which concept was proposed by John Campbell in his presidential address at American Finance Association (Campbell, 2006)?

Options :

1. ¥ Household Finance
2. % Consumer Finance
3. # Legal Finance

4. % Business Finance

Question Number : 140 Question Id : 60092912415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S HUSd 7 ARET BIEAY THRITE (399, 2006) 7 30 3ieqefia Hyor § f S[gURuN &1 URdTd a7 412

Options :

2. % JUHIT fad
3. % I fod
4. % YR fad
Discipline3
Group Number : 8
Group Id : 600929517
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 600929672

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929806

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 60092912416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An increase in the price of goods and services over time is called
Options :

1. * Wages

2. ¥ Inflation

3. * Loans

4. = Bills

Question Number : 141 Question Id : 60092912416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG & 1Y g3t 3R Jarefi & geg # gfg ! HEI ST g |
Options :

1. ® Holgl

2. ¢ HERbIfd

3. % B

4. % fadg®

Question Number : 142 Question Id : 60092912417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cells that do not divide further exit G1 phase to enter an inactive stage called

Options :

1. ¥ Quiescent stage
2. # Inactive G stage
3. % Nil Stage

4. ¥ Reverse G stage

Question Number : 142 Question Id : 60092912417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIRBTT S 3T FAHTRTT T8t Bt G1 TRUT Y TR Fhdde T Miepy /awit & Uax #dl 8§, 39 HET AT B |
Options :

1. % 3T 3R]

2. % FAfspy it sra

3. % QL AIRT

4. % JohH Sff =T

Question Number : 143 Question Id : 60092912418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The formation of the new cell wall begins with the formation of a simple precursor called




Options :

1. # Cell Division
2. ¥ Cell Plate

3. % Cell Formation
4. ¥ Matured Cell

Question Number : 143 Question Id : 60092912418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 BIfrepT fhify 1 fFAmfor TH & YR 3igd (NHIR) & i 3 & giar g |
Options :

1. % SDIReBT faHTeH

2. ¥ HIRBI-US

3. % DIfRyepT AT

4. % URUSD DIRIBT

Question Number : 144 Question Id : 60092912419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Formula for Normality is

Options :

1. % Molar Mass / Basicity

2. ® Weight of Compound / Equivalent weight

3. ¥ Equivalent weight / Volume of solution in Litres

4. % Molar mass of the solute/ Mass of the solvent

Question Number : 144 Question Id : 60092912419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT BT gl
Options :




1. % TR GoIHM/ &Rl

2. % IS BT YR/ TeidhT UR

3. ¢ J™iht YR / ilex | faerae &7 Siria

4. % 309 &1 AR ST / fadrdd &1 saqd@=

Question Number : 145 Question Id : 60092912420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In forming the image in a microscope which lens focuses light from the illuminator to a small area of the specimen?
Options :

1. ¥ Condenser lens

2. # Collector lens

3. % Objective lens

4. # Eyepiece lens

Question Number : 145 Question Id : 60092912420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YeAel § B a9 H HF 1 39 USiud J UhT=I &1 T & BIc § &7 § dbfad HRal 82
Options :

1. ¥ HSTIR g

2. % HodeR g

3. % Jleuifded g

4. % 3fIUN oY

Question Number : 146 Question Id : 60092912421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of WBC (White Blood Cells)?
Options :

1. ¥ T - lymphocytes



2. # Antigen
3. # Bacterial Cells
4. # Antigen- binding site

Question Number : 146 Question Id : 60092912421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafaa § Q@ WBC (Ad Iad HIDT) BT UHR 82
Options :

1. ¥ T - fmparge

2. % gideH

3. % Sary HIfRIBHY

4. % GIoH-aEfET H3e

Question Number : 147 Question Id : 60092912422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is used to view the ribosome bound to ternary complex?
Options :

1. % Light Microscope

2. % Compound Microscope

3. ¥ Cryo-electron microscopy (cryo-EM)

4. % Electronic Microscope

Question Number : 147 Question Id : 60092912422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) B J §Y AL Bl o o Ty fosdept IudNT fasa Sl 2
Options :

1. % GebTe geresif

2. % e gereslf




3. ¥ BI-gAdCH HISh DU (PIII-EM)
4. % AP geeRi

Question Number : 148 Question Id : 60092912423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In peptide bond formation, carboxyl group reacts with

Options :

1. # Phosphorus
2. % Fibre

3. # Fats

4. ¥ Amino group

Question Number : 148 Question Id : 60092912423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UpTES SMey fufor § wreffara Tig & Y HNfHaT HRaT B |
Options :

1. ¥ BRBRY

2. %

3. % 94l

4. ¢ U 9gg

Question Number : 149 Question Id : 60092912424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I enhance absorption of Iron. Who am [?
Options :

1. # Calcium

2. # Vitamin B

3. % Vitamin C



4. ® Vitamin A

Question Number : 149 Question Id : 60092912424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR & SN &) Il g | H B g2
Options :

1. % iy

2. % fqerff B

3. ¢ faerfiA ¢

4. % fqerfie A

Question Number : 150 Question Id : 60092912425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which food component has blocking/ suppressing effect?
Options :

1. ¥ Isoflavones

2. % DHA (docosahexaenoic acid)

3. # EPA (Eicosapentaenoic acid)

4. % GSH (Glutathione)

Question Number : 150 Question Id : 60092912425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg @Te geeh | SfaRIY/RIh BT UHTd Bial 52
Options :

1. ¢ STSHIRIAI

2. % DHA (P RASS TS)

-\

3. % EPA (3B IUCHIS® TRTS)

4. % GSH (WeTia)




Question Number : 151 Question Id : 60092912426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the statement for the dietary modifications in geriatrics.
Options :

1. ® Should be given more of Triglycerides

2. # Too many sweets with lots of fats and sugar should be avoided
3. ¥ Easily digestible food should be given

4. ® Fibre rich food should be avoided

Question Number : 151 Question Id : 60092912426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIRNTIAE H 3MER F=MH! & ford o |

Options :

1. % TIRTORRISS e ¢A1 aTey

2. % §gd 3% a9 3R IR aTehl Hs (Horgdl ¥ g9 dleT
3. ¢ 3T Y U= arar HIsiH ST AT

4. % - (BTSER) Jard HioH ¥ S2+1 M8 T

Question Number : 152 Question Id : 60092912427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the binge eating disorder after weightloss or dieting attempts.
Options :

1. % Orthorexia Nervosa

2. #% Anorexia Nervosa

3. # Bigorexia

4. ¥ Bulimia Nervosa

Question Number : 152 Question Id : 60092912427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

qG YT T ST o YA/ o dlG 3Hfedh WM & [dhR &1 =19 dd13U]|
Options :

1. % STYRIRTIT Tafel

2. % TARTRTAT TafeT

3. % fomRfeaa

4. « gfaferr Tafen

Question Number : 153 Question Id : 60092912428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why Vitamin D dosage increases in Old age?
Options :

1. #® To maintain blood levels of phosphorus

2. ¥ To prevent from bone loss or fractures

3. # Facilitating normal immune system function
4. % Reduce likelihood of developing flu

Question Number : 153 Question Id : 60092912428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 § fqerfid D &1 Qe &1 9 Sl 82
Options :

1. % Yo § BRHRY b TR DI §-1E X9 o forg
2. ¢ IR &ffd 1 R | FaH & forg

3. % A UcREM ToTTel & B &l GIH ST
4. % Uq [awRid gF & YU HH F3dl §

Question Number : 154 Question Id : 60092912429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of 100 g of the given food items, which one has highest antioxidants?
Options :

1. ¥ Walnuts

2. % Almonds

3. ¥ Hazelnuts

4. % Cashew

Question Number : 154 Question Id : 60092912429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7T Ty gerif & 100 T H 9 frad we offie ufdsiRieRs §°
Options :

1. ¥ 3RRIC

2. % dlqlH

3. % gulere

4, % DI

Question Number : 155 Question Id : 60092912430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should be the daily dose of Vitamin A in an adult male?
Options :

1. # 850 mcg/dl

2. % 1200 mcg/dl

3. ¥ 1000 mcg/dl

4. % 950 mecg/dl

Question Number : 155 Question Id : 60092912430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TS GoW H fe1itm A 3t ¢fe TR fovami gl anfew?



Options :

1. % 850 mcg/dl
2. % 1200 mcg/dl
3. % 1000 mcg/dl
4. % 950 mcg/dl

Question Number : 156 Question Id : 60092912431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Digestion of carbohydrates start in the mouth with the enzyme

Options :

1. # Latin

2. ¥ Ptyalin

3. % Alpha Amylase
4. ¥ Amylase

Question Number : 156 Question Id : 60092912431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PlalgRSe B U Ha o U § Y= BT 3|
Options :

1. % oo

2.« &AM

3. % 3(epl-UHAT

4. % TS

Question Number : 157 Question Id : 60092912432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Thickening of capillaries in the glomerulus leads to

Options :



1. # Neuropathy
2. # Retinopathy
3. % Nephropathy

4. % Atherosclerosis

Question Number : 157 Question Id : 60092912432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiBRAdD H BB BT HeT §H F HRUT gIaTgl
Options :

1. % dETRIY (RGRIU)

2. % gf¥ucafdepid

3. ¢ AmIUdT

4. % QIRRGRRINY

Question Number : 158 Question Id : 60092912433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The intestinal wall lined with 4 to 5 million finger like projections are called
Options :

1. # Cilia

2. ¥ Villi

3. * pseudopodia

4. ¥ Cristae

Question Number : 158 Question Id : 60092912433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 5 Taferge Svferdl S gaon ¥ SRafkd Sfidi &1 SR &1 CIHRSIGIE
Options :

1. % Tferan



2.« fawit

3. % Zellfean
4. % fopee

Question Number : 159 Question Id : 60092912434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a carotenoid present in tomatoes.

Options :

1. % Anthocyanins
2. % Catechins

3. #® Copper

4. ¥ Lycopene

Question Number : 159 Question Id : 60092912434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eHTeR § HiNlg arifeAigs B

Options :

1. % TRt

2. % PHefd

3. % dH

4.  TAISHIUA

Question Number : 160 Question Id : 60092912435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not a reason for morning sickness during first trimester of pregnancy?
Options :

1. # Hormonal imbalance

2. ®# Food odour



3. ¥ Increased Blood Glucose

4. % Less water intake

Question Number : 160 Question Id : 60092912435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T THIGRIT 1 Ugall farTet & AT R T HRUT 81 82

Options :

1. ® gTHMS SRIgaH

2. % GRITY

3. ¢ §¢1 §3HT I T p Il

4, % U1 BT HH Ja
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Question Number : 161 Question Id : 60092912436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dietician is a part of Health care system that does not include
Options :

1. ¥ X ray Technician
2. % Nurses
3. % Physicians

4. % Doctors

Question Number : 161 Question Id : 60092912436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MTER fIRIvT TR S|UTT YUl 1 Ueh fgw B o RIERER K]
Options :

1. ¢ X - X AR

2. % Y

3. % fRIfbds

4. % GlRX

Question Number : 162 Question Id : 60092912437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the 80C limit for 2020-21?



Options :

1. % 1,00,000
2. % 1,50,000
3. % 2,00,000
4. % 250,000

Question Number : 162 Question Id : 60092912437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020-21 % 1T 80C HT TeT T B2
Options :

1. * 1,00,000

2. ¥ 1,50,000

3. % 2,00,000

4. % 250,000

Question Number : 163 Question Id : 60092912438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the resources that can be used to create income, decrease expenses, or store wealth as an investment?
Options :

1. ¥ Income Sources

2. # Extra Income

3. % Assets

4. % Financial Statement

Question Number : 163 Question Id : 60092912438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I P Y TI1 § FSFThT ITANT 3T ST B, TG HH B, T AW & U H 47 D1 TG B & (oY fha1 51 Tabar g2
Options :

1. % Q™M H AT




2. % 3ffaflkad 3ma
3. ¢ gRgERT
4. % fa<itg fgazor

Question Number : 164 Question Id : 60092912439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Borrowing is renting someone else’s money for a period of time, and the money you owe is known as

Options :

1. # Interest

2. # Income

3. ¥ Debt

4. % Return Payment

Question Number : 164 Question Id : 60092912439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUMeH fHdt 3R & T B $ JHT & U YR W T8, 3R 30 gRT 3T 7T I &Y & A Y ST o1 B |
Options :

1. # &S

2. % 3

3. ¢ Bl

4. % Yfdhd YT

Question Number : 165 Question Id : 60092912440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The use of accounting skills to investigate fraud or embezzlement and to analyse financial information for use in legal proceedings is called
accounting.

Options :

1. ¥ Forensic



2. % Managerial
3. * Financial
4. % Accrual

Question Number : 165 Question Id : 60092912440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eNATSY T TUGRUT B! Sifd & 1T 3R HIHT Srfarg! H SudiT & for faxfta SRt o1 fazayur A & o aRaie HIerd & STanT
Gal CRaTep+1 gl SITdl ol

Options :

1. ¢ e

2. % YYD

3. % fo<iig

4. % Yhga

Question Number : 166 Question Id : 60092912441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why do we need a Demat account?

Options :

1. # To create Fixed Deposits

2. % To hold shares

3. % To withdraw money from Provident fund account

4. # To save capital gains tax when you sell a property

Question Number : 166 Question Id : 60092912441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g1 Snifies |Id &Y SfTa=adhal Kl 52
Options :

1. % fthos feutvre 57 & forg



2. ¥ QIR RN HRAT
3. % TifdSe e Wd ¥ I fAeren & fog
4. % JUft SEd THY YSilTTd A1 B g9 b forg

Question Number : 167 Question Id : 60092912442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While applying for a loan, what information needs to be provided to show ability to repay the loan?
Options :

1. # Bank Details

2. % Educational Details

3. # Working place Details

4. ¥ Personal Financial Position

Question Number : 167 Question Id : 60092912442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F0T & T ST XA T, U1 o AT BT & fed™ & T S T AHBRI UG BRAT SaRID Bichl 672
Options :

1. % d% faazur

2. % Qe faaror

3. % HEORT fqaR

4. ¢ Hfaard faxia fRufa

Question Number : 168 Question Id : 60092912443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of AMFI?

Options :

1. ® Annual Master Fundings of India

2. % Association of Mutual Funds in India



3. # Associated Money Funding of India
4. ® Annual Money Funds of India

Question Number : 168 Question Id : 60092912443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AMFI &1 Ul T &1 82

Options :

1. % T31c] HRCX g™ 31t gfean

2. ¥ THIRIURA it R (e 3 e
3. % THIRUCS H1 BT 3t SfSan

4. % T3 U ey it sfear

Question Number : 169 Question Id : 60092912444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who worked on childhood cognitive development?
Options :

1. ® John Bowlby

2. # Sigmund Freud

3. # Erik Erikson

4. ¥ Jean Piaget

Question Number : 169 Question Id : 60092912444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STCTaRT o HHIHD b R foba S faam
Options :

1. % S dlcsl!

2. % g s

3. % TRP TR




4. ¢ FT AT

Question Number : 170 Question Id : 60092912445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Feeling of guilt, sorrow and happiness is due to

Options :

1. # Psychological Development
2. % Emotional Development

3. % Moral development

4. # Environmental Development

Question Number : 170 Question Id : 60092912445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, g 3R & B yfa P PRU B B
Options :

1. % FHyHS faera

2. % HIGHIHS fdBbT

3. ¢ Afds fawm

4. % UYIaRONY faHT

Question Number : 171 Question Id : 60092912446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

development is a field of study in neuroscience and psychology focusing on a child's development in terms of information
processing, conceptual resources, perceptual skill and language learning.

Options :

1. # Social

2. ¥ Emotional
3. ¥ Moral

4. ¥ Cognitive



Question Number : 171 Question Id : 60092912446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faoT AT A SfR TIAR § S1e7a &1 U &5 § o Y1 URIRaRUT, JaTRd ST, SaURUNHS IR 3R T
AT & Ty & §=d & (9™ W &M Hisd PR g |

Options :

1. % T
2. % Y[dTHD
3. % Afd®

4. ¢ GIHTHS

Question Number : 172 Question Id : 60092912447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During infancy, ideal gain in weight and height should be
Options :

1. # Weight by 1/3rd and height by twice.

2. % Weight by twice and height by thrice.

3. ¥ Weight by thrice and height by 1/3rd

4. ¥ Weight and height by twice

Question Number : 172 Question Id : 60092912447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QALETTRIT & GRM, HR 3R SHaTs H e g g =T
Options :

1. % 1/3 AT YR 3R &1 &l T

2. % YR & AT 3R SdTs odH T

3. ¢ YR 1 A1 IR $ag 1/3 T

4. % YR 3R a8 &I AT



Question Number : 173 Question Id : 60092912448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the body grows rapidly after birth?
Options :

1. # Legs

2. # Lower abdomen

3. ¥ Hands

4. ¥ Head

Question Number : 173 Question Id : 60092912448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR H1 B T 3 T & 1 doil J 9T &2
Options :

1. % W

2. % e

3. % gY

4. ¢ RR

Question Number : 174 Question Id : 60092912449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In early childhood what all significant changes can be seen?
Options :

1. % Only Psychological changes

2. # Physical and aggressiveness

3. ¥ Physical and Psychological

4. # Environmental adaptation

Question Number : 174 Question Id : 60092912449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SreaTaRT §, o1 O Guft Ayl ufkad 3 o Tad 82
Options :

1. % Had gAdTIHe gRad-

2. % FRIRSG 3R 3MMpTHBAl

3. ¢ RIS 3R FAID

4. ® UYIaRUT 3JHad

Question Number : 175 Question Id : 60092912450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has given the "Attachment theory"?
Options :

1. % Sigmund Freud

2. % John Bowlby

3. % Jean Piaget

4. ¥ Erik Erikson

Question Number : 175 Question Id : 60092912450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 Ry fope faan g 2

Options :

1. % s wrae
2. ¢ S diedl

3. % Sl wmwl

4. % TRH TRHIA

Question Number : 176 Question Id : 60092912451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the correct order of Sigmund Freud's five psychosexual stages.
Options :

1. # oral, phallic, latency, anal, and genital

2. # oral, anal, genital phallic and latency

3. % oral, anal, phallic, latency, and genital

4. % oral, latency, phallic, anal and genital

Question Number : 176 Question Id : 60092912451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS TS &1 Ul AT SaRTSl o el hH BT 90 B |
Options :

1. ® Tifa®, dfftes, A, T 3R SHART

2. % WY, T[T, ST Al 3R dcat

3. ¢ HIRAS, T[aT, cifiTep, At SR ST

4. % AR, AT, o, TaT 3R ST

Question Number : 177 Question Id : 60092912452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does "industry and inferiority" stand for?

Options :

1. #® Children begin to expose them to the competitive world.

2. % Children begin to compare themselves with their peers to see how they measure up.
3. # Learning about reel and real world.

4. ® Children who feels shy to the outer world.

Question Number : 177 Question Id : 60092912452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"IN 3R gar 1 ot 3 g2



Options :

1. % g U3 B faeaelf gfar & IR & ard B |

2. T 3T TG P 1Y TG B o B A § T 3 Y 379 3 &
3. % PHIed® () AR IRAMAD g1 o IR & ARG

4. % S 9= STE-T g B X Hegd o |

Question Number : 178 Question Id : 60092912453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the term for the following- "The absorption of new ideas into an existing cognitive structure."
Options :

1. ¥ Assimilation

2. % Object permanence

3. % Deductive reasoning

4. ® Transitivity

Question Number : 178 Question Id : 60092912453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad & o <req &1 A IAT- "HISGT SHTHS T H Y [GaR] &1 Sa=nwo |
Options :

1. ¢ THATDH T

2. % T WIEdd

3. % FRTHATES do

4. % Gep1iorar

Question Number : 179 Question Id : 60092912454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the three types of attachments that a child could possibly demonstrate?
Options :



1. ¥ Secure, Avoidant, and Vacillator
2. % Preoccupied, Avoidant, Fearful
3. ¢ Secure, Avoidant, and Resistant

4. ® Pleaser, Vacillator, Controller

Question Number : 179 Question Id : 60092912454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I T USR & TG § N T T YHTd: TERid R gadT 82
Options :

1. % R, TRER (3fd13e), IR IRfaieR

2. % Hi3flagurgs, URER (3rdlgs ), HaHid

3. ¢ PR, IRER (3rEIgS) 3R ufeReh

4. % R, 94icieR, dheler

Question Number : 180 Question Id : 60092912455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does Freud’s psychosexual theory of development suggest?

Options :

1. # We progress through three levels of moral thinking that build on our cognitive development.
2. ¥ Children develop through a series of stages related to erogenous zones

3. # The resolution of different crises to become a successful, complete person.

4. ® The idea that children actively construct knowledge as they explore and manipulate the world around them.

Question Number : 180 Question Id : 60092912455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS H1 HAIGRTD [daT HT Rigid o1 Iaral g2

Options :
1. % g9 Afqe O & &1 TR & A1end § 31 9¢d & S 8HR IMAS f[9eT )R §9d 5




2. v o IO 9 4 Hfd a1l & 4l & q1eqd ¥ fadhRid -d &
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Question Number : 181 Question Id : 60092912456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What was the age group suggested by Piaget for concrete operational stage?
Options :

1. % 0-2 years

2. % 3-6years

3. ¥ 7-11 years

4. % above 12 years

Question Number : 181 Question Id : 60092912456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol A ol AchaTed SawiT & ot foma g ol o1 gaima feam
Options :

1. % 0294

2. % 3699

3.¢ 7-11 94

4. % RIYIJZTW

Question Number : 182 Question Id : 60092912457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the type of communication that is shared by all machines of a network?
Options :

1. # Analog

2. % Digital

3. ¥ Point to point and Broadcasting

4. % Baseband

Question Number : 182 Question Id : 60092912457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR BT UHR 1 8 o Aead o g+t 7=ii=i grT aren fhar sirar 82




Options :

1. % QAT

2. % f&fSrea

3. ¢ YA Y T 3R FSBIeT
4. % 9SS

Question Number : 183 Question Id : 60092912458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a system that has a channel that allows simultaneous transmission in both directions.
Options :

1. # Simplex transmission

2. % Full duplex transmission

3. % Half duplex transmission

4. ¥ Duplex transmission

Question Number : 183 Question Id : 60092912458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 JUTTel &1 A9 Jarsy o 9+d aiH! fe=mell & T A1y W0 &1 $afd ¢ 6|
Options :

1. % Rinie grafie

2. ¥ Bd Wi CifiRH

3. % g% SWid gRafiRH

4. % SR CTHRM

Question Number : 184 Question Id : 60092912459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the correct order in elements of a communication system?
Options :



1. ¢ Source, transmitter, transmission channel, receiver
2. ¥ Source, transmission channel, transmitter, receiver
3. ¥ Transmission channel, source, transmitter, receiver

4. ® Transmitter, source, transmission channel, receiver

Question Number : 184 Question Id : 60092912459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR YUITet & dcdl H Tgl oH 182
Options :

1. ¢ Fid, ThHieR, SRR o d, ReftaR
2. % HId, TR o, giadiex, Reffar
3. % CIAMRM 99d, 9id, gieier, Reflay
4. % TioHieR, A, TRIMARM oFd, Rt

Question Number : 185 Question Id : 60092912460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which out of the following is an important signal-processing technique?
Options :

1. ® Modulation

2. ¥ Coding

3. # Sampling

4. ® Pulse Modulation

Question Number : 185 Question Id : 60092912460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied o 9 &1 O Heayu! Rvd-TRRiT d&b-1e 82

Options :

e




2. ¢ BIfST
3. % gfaaad
4, % UH Hisg®H

Question Number : 186 Question Id : 60092912461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name one scientist out of the following who has worked in Modern Communication in 19 & 20th Century.
Options :

1. # Joseph Lister

2. ¥ ].C. Bose

3. ¥ M. Visvesvaraya

4. % Karl Landsteiner

Question Number : 186 Question Id : 60092912461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # § ue d91e &1 1 aigu, fomeiA 109 SR 20t Trared! & snyfie Tar & & gl
Options :

1. % S ferey

2. ¢ S 9N

3. % TH. fagsRan

4. % PIA dSLR

Question Number : 187 Question Id : 60092912462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote the book- The Creation of Patriarchy?
Options :

1. % Ursula K Le Guin

2. % Gerda
Lerner



3. # Leo Tolstoy
4. % Gustave Flaubert

Question Number : 187 Question Id : 60092912462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< fopum sifts Afesnal- A o) gae feam forgt 82
Options :

1. ® IGaT & o T34

2. ¢ MBI TR

3. % g diedig

4. % TG FAlAR

Question Number : 188 Question Id : 60092912463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which are the 4 racial types found in the world?

Options :

1. % African American, Native Hawaiian and African American
2. # Caucasian, Mongoloid, African and Aryan

3. % Lemurian, Atlantean, Mongoloid and Aryan

4. ¥ Caucasian, Mongoloid, Negroid & Australoid

Question Number : 188 Question Id : 60092912463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 & UTT O ATl 4 Rl YR DI 9 82
Options :

1. % 3(IBIchT MR, e garsal 3R STBIh! SHRD!
2. % DGR, AIMCAITS, bl 3R M

3. % QRH, sfedifedq, AMaes ik 3miA



4. ¥ DGR, AIMAITS, TS 3R sReaids

Question Number : 189 Question Id : 60092912464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Race is a biological, mental or a social construct?
Options :

1. #® Only Biological

2. % Only social

3. ¥ Biological and Social

4. % Mental and social

Question Number : 189 Question Id : 60092912464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G T Sifdd, HFRI a1 Ao i g2
Options :

1. % %ad Sifdd

2. % dad gD

3. ¢ Sfae SR IS

4. % TARI® R qHTorH

Question Number : 190 Question Id : 60092912465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who quoted , "I ain't afraid to love a man, I ain't afraid to shoot him either"?
Options :

1. # Robert Stoller

2. ¥ Annie Oakley

3. # Nancy Hartsock

4. % Goldthrope



Question Number : 190 Question Id : 60092912465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

form Igyd forar, “H T STeH &1 91 B J 81 ST, H 39 Tt ARA ¥ +ft 78 3
Options :

1. % q WIeR

2. ¥ T it

3. % 93t gTTP

4. % TS

Question Number : 191 Question Id : 60092912466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does gender study try to improve?
Options :

1. # Biological difference

2. # Sexes

3. % Social Difference

4. % Division of income strata

Question Number : 191 Question Id : 60092912466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S T GUR HRA BT YA el 87
Options :

1. % fde SR

2. % fefl

3. ¢ ISP 3R

4. % 31 I BT fqUTSH



Question Number : 192 Question Id : 60092912467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Female infanticide is:

Options :

1. # Killing of daughter in law due to dowry

2. ¥ Deliberate killing of newborn female children
3. # Girl child deprived of education

4. # Less salary to females for same work

Question Number : 192 Question Id : 60092912467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul |§IQI edl &:
Options :

1. % Tgol & [oTT 98 &1 gl

2. ¢ qNd Sl DI AHGHDPR B T5 g
3. % fR7a 4 dferd st

4. % GAM B o for Afgersh 1 A de

Question Number : 193 Question Id : 60092912468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the matrimonial pamphlet's in 1543, ideal wife duties are categorized as:
Options :

1. # Only to take care of family

2. ¥ To serve her husband, take care of family

3. # Only to do household chores

4. % To not to earn

Question Number : 193 Question Id : 60092912468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1543 H daige U<l & 3R, SMTeR] Udl sboicdl I $8 YR aiiicpd febT 7T &:
Options :

1. % Had UNAR P G@HTA HRAT

2. ¢ fd &1 Jd1 HA1, URAR BT BATA IGH]

3. % RY%h R & HH AT

4. ® 31T 3ffoTd el Bl

Question Number : 194 Question Id : 60092912469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defined psychology as "the science of mental life, both of its phenomena and their conditions."?
Options :

1. ¥ William James

2. # Dadapani

3. % Bagga

4. % Watson

Question Number : 194 Question Id : 60092912469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for g TR &1 ARG SiaH o1 faxH, 3H®! 9T 3R 3! Rl G & ¥ § uuiid fasan|
Options :

1. ¢ faferas s

2. % Qe

3. % dU

4. % gicgd

Question Number : 195 Question Id : 60092912470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A gemmologist, graphologist, numerologist, palmist or an astrologer comes under category of

Options :

1. % Military Psychologist
2. # Clinical psychologist
3. % Pseudo-psychologist
4. # Child Psychologist

Question Number : 195 Question Id : 60092912470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STHIdITORE, BRI, 3idh faRIvs, gear@nfag a1 wierd saifas! &I J0R 371 & |

Options :

o

LA NN
1. # g HAGIATHD

2. % a1 gAY

o\

3.« Be-HAIa S

4. % §Td gAayT—S

Question Number : 196 Question Id : 60092912471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is a phrenologist?

Options :

1. # describe you by your eyes

2. ¥ describe you by your skull

3. % describe you by your handwriting

4. # describe you by your behaviour

Question Number : 196 Question Id : 60092912471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HuTatae fag &1 82

Options :



1. % 3MUD! AT F 3ATUHT JUH BT §
2. ¢ 3P Uit I 3MTTHT JUH BT §
3. % 3{TUp! feRaTde ¥ 3MUHT qui- HRdl 8
4. % 3UH IR T U] gl Hal g

Question Number : 197 Question Id : 60092912472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to UNESCO, which one of the following is not a dimension of sustainable development?
Options :

1. # Society

2. # Environment

3. ¥ Education

4. ¥ Economy

Question Number : 197 Question Id : 60092912472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh! & TR, FUfaRad & 9 & A1 9dd f[dem &1 3mamH 81 82
Options :

1. ® FHN

2. # qdTaRor

3. ¢ fRuaf

4. % SfouaR

Question Number : 198 Question Id : 60092912473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who experimented with a 11 month old little boy Albert on the term classical conditioning?
Options :

1. ¥ John Watson



2. * Pavlov
3. * Burrhus Frederic Skinner
4. ¥ Bowlby

Question Number : 198 Question Id : 60092912473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fope SraeH Rigid e W 11 A & BIC TSP 3fedic P AT TANT faram
Options :

1. ¢ S areq

2. % Uradid

3. % §g heRe "R

4. % qlcal

Question Number : 199 Question Id : 60092912474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whose theory of evolution involves the study of the genes and environmental mechanisms that underlie the universal development of social and
cognitive competencies?

Options :

1. % Darwin's
2. # Lornez's

3. ® Tinbergen's
4. ¥ Bowlby's

Question Number : 199 Question Id : 60092912474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo faPpN-Rigid & IS SR IS Gararstl & Fayiied [dH & YR TR S SR Tafarul O3 ST 3ea i 87
Options :

1. ¢ SIfdd

2. % dlal




3. % feqarq
4. % Ficat

Question Number : 200 Question Id : 60092912475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to NIN 2020, how much protein does an Indian child of 4-6 years require per day?
Options :

1. % 10gm

2. % 13gm

3. % 15gm

4. % 21lgm

Question Number : 200 Question Id : 60092912475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NIN 2020 % 39R, 4-6 T8 & HYRAT §d DI U fova Ui &1 a=adhdi gkl g2

Options :
1. # 10gm
2. % 13gm
3. % 15gm
4. % 2lgm
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Question Number : 201 Question Id : 60092912476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The requirement of nutrients increases in an adolescent girl as compared to an adolescent boy because-
Options :

1. ¥ They require more for their growth and development and also stack up for future child bearing procedure.
2. # They have more composed body composition so require more nutrition.

3. ¥ Muscles are more in them so to maintain it girls require more nutrients.

4. % They do not like to eat heavy meals.

Question Number : 201 Question Id : 60092912476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fHPUR d8F &1 a1 H T [Pk dsa! & Ui dedl &1 Saudhdl §¢ i g Jifb:




Options :

1. ¢ I 307 gfg 3R far & forw SiR 3ifere &Y Sazassdt gl § 3R Hiasy # 5= UeT A 1 Ufehan & o oft g wa B
2. % 3P IRR B} T 31 il § STfTE I 3B TV Bt STagHdl Bl g |

3. % IR IO 3ifie Bl & TURT 38 9918 X & T asieal &) ot Give dal &) SazadsdT aldt 3|

4. % I YR Yo BT e 181 2|

Question Number : 202 Question Id : 60092912477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of physical changes through which a child's body matures into an adult body capable of sexual reproduction is known as:
Options :

1. ¥ Menarche

2. #% Adolescence

3. # Development of Secondary Sexual Characteristics

4. ¥ Puberty

Question Number : 202 Question Id : 60092912477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS aRad 3T uferan forde H1erm 3 o= &1 IRR 19 UoiH o [T Gl 9% IRR H URUs gidl 5, 39 el olldl o:
Options :

1. % ISNGRME (AT

2. % {HRIRITRIT

3. % HIeAfte 9 A&fon &1 fahr

4. QTR

Question Number : 203 Question Id : 60092912478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is stunted?
Options :



1. ¥ Low height for age

2. # Excessive tall height for age
3. % Low weight for height

4. # Low weight for age

Question Number : 203 Question Id : 60092912478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SfapRid (KS) o1 1 31 72
Options :

1. ¥ 31g & fg9d 9 0 Hg

2. % 3 & fgUE Y AYD el ha
3. % CiaTs & fod ¥ HH YR

4. % g P 3O ¥ HH UR

Question Number : 204 Question Id : 60092912479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which nutrient deficiency can lead to growth failure in children?
Options :

1. # Vitamin D

2. ¥ Zinc

3. ® Calcium

4. % Vitamin A

Question Number : 204 Question Id : 60092912479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o UiV dcd 1 B! U Tadi BT [AHT S Habdl 67

Options :

1. # fgerfid p




2. ¢ N
3. % BHigH
4. % faer= A

Question Number : 205 Question Id : 60092912480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one from the below option is not the symptom of Premenstrual syndrome?
Options :

1. # Breast enlargement

2. % Anxiety

3. % Peripheral oedema

4. ¥ Constipation

Question Number : 205 Question Id : 60092912480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ feu T fawedt o @ HH-91 UTTTda &7 deor e 82
Options :

1. % I aeH

2. % Il

3. % R gor (Ut ufemn)

4. & g

Question Number : 206 Question Id : 60092912481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which vitamin is used to treat hyperparathyroidism?
Options :

1. ®# Zinc

2. # Vitamin E



3. # Vitamin C
4. % Vitamin D

Question Number : 206 Question Id : 60092912481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 RTagdl FRURUTIRIS ESH) & IUAR & forw farg faetfem &1 Iuant farar ST 82
Options :

1. % fSi

2. % faefi E

3. % fqeide C

4.« faefi - D

Question Number : 207 Question Id : 60092912482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Define Nutrition.

Options :

1. ® Taste enhancing food

2. % The science of food and relationship to health
3. # Science of food and agriculture

4. ® A plate of balanced food

Question Number : 207 Question Id : 60092912482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIy0T &1 URHIST SIfST |

Options :

1. % TG drdl HioH

2. ¢ WG § Yo 3R &Y &7 fagH

3. % oH 3R Y fagm




4. % Hferd HISH o1 UTeit

Question Number : 208 Question Id : 60092912483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the following, which one is not the clinical PEM form?
Options :

1. # Kwashiorkor

2. % Marasmus

3. % Marasmic kwashiorkor

4. ¥ Wasting

Question Number : 208 Question Id : 60092912483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o 9 oF 91 el PEM ¥4 751 82
Options :

1. % BIRARGR

2. % JIARNY (ARNHR)

3. % ARID DIRMRBR

4. & §aiG HAT

Question Number : 209 Question Id : 60092912484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To enhance Iron absorption, it is advised to consume it with which Vitamin?
Options :

1. # Vitamin A

2. % Vitamin C

3. ¥ Biotin

4. % Vitamin E



Question Number : 209 Question Id : 60092912484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & ST DI T & foIU, 3TPT V9 {59 I F T1Y B Bt Tl < Sileht 82
Options :

1. % fqerfam A

2. ¢ faerfiF ¢

3. % g

4. % fqeIi E

Question Number : 210 Question Id : 60092912485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ICDS Scheme?

Options :

1. # Intelligent Child Development Services

2. # Integrated Child Development Scheme

3. ¥ Integrated Child Development Services

4. # Installation of Child Development Services

Question Number : 210 Question Id : 60092912485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICDS TSI &1 Y01 JU= &1 §2
Options :

1. # 3oaiivic dI3cs SaayHe Afdad
2. % SUCT T3S SAAUHE WhIH
3. ¢ TS T1IRcS SaquHc Aidast

oC

4, % LT AW I5ce SIdUHC Fiaay




Question Number : 211 Question Id : 60092912486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In kwashiorkor, excretion of reduces.
Options :

1. ¥ Creatinine

2. % Riboflavin

3. # Iron

4. % Pancreatic secretion

Question Number : 211 Question Id : 60092912486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PIRARBR T, BT I HH g ST o
Options :

1. ¢ fopufefad

2. % RReIwRifa

3. % 3RRA

4, % AU IId

Question Number : 212 Question Id : 60092912487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following classifications based on body weight are not commonly used in India?
Options :

1. ® Gomez classification,

2. # Indian Academy of Paediatrics (IAP) classification

3. # Standard deviation classification

4. ¥ Hamwi method

Question Number : 212 Question Id : 60092912487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TRR P HR & MYR R Fgferiad & T o9 a1 affeor R # HaR IR IUTRT 8! fosar Sirdr g2
Options :

1. % IO i,
2. % ST udhe! 3t difsaricay aamfifthr=
3. ® HHDH iatl('H d“ITGbQUI

4, gLl fafd

Question Number : 213 Question Id : 60092912488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Boxall and Purcell, HRM means?

Options :

1. ¥ Anything and everything associated with the management of employment relationships in the firm

2. % Anything and everything associated with the management of employment relationships in the particular department.

3. # Anything and everything associated with the management of employment relationships in the different office of same company.

4. ® Anything and everything associated with the management of employment relationships only with the management sector.

Question Number : 213 Question Id : 60092912488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sied 3R TRId & 3FHR, HRM &1 &1 378 g2

Options :

1. ¢ T T ISATR et & Teed I o1 $9 o iR q§ $8

2. % ORI fqumT H ISR Teelt & veed 9 81 $9 Ui iR 99 $93 |

3. % UH g U & fAfled Sraiad B AR Taieh & Jaed 9 J81 $3 o iR 99 56 |
4. % Had YU &8 P Y ISR &l & Teieq I 91 $8 U 3R J6 3 |

Question Number : 214 Question Id : 60092912489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the 4 key dimensions for HRM.

Options :

1. #® Quality, Commitment, Flexibility and Integration.
2. % Commitment, Quality , Flexibility and Integration.
3. ¢ Commitment, Flexibility, Quality and Integration.
4. ® Commitment, flexibility, Integration and Quality

Question Number : 214 Question Id : 60092912489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRM & 7T 4 T AT &l Tareyd $e |
Options :

1. % TUrGT, Uiddsdl, Tara 3R THihRul|
2. % YfeGdI, TOTET, AT 3R THihRur|
3. ¢ TfdesaT, TTaTgH, o 3R THIHRUT |

4. % YfAdGd, THQYA, ThIeHR0T 3R T[0ra

Question Number : 215 Question Id : 60092912490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of role of HRM includes bargaining with unions?
Options :

1. ¥ Human Bureaucrat

2. ¥ Consensus Negotiator

3. ¥ Manpower Analyst

4. ® Organization Man

Question Number : 215 Question Id : 60092912490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRM & YfHepT & 5 4T & e & Iy Aicarsh 2nfia g2

Options :



1. % H[d qUKIRRATe

2. ¢ JHTEHI aTdidR
3. ® SHRIfad fovaud
4. % IS HH

Question Number : 216 Question Id : 60092912491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Four-stage model of HRM included recruitment, education, motivation and evaluation. What was added in the five-stage model?
Options :

1. # Training

2. ¥ Celebration

3. # Reward

4. # Confidential Report

Question Number : 216 Question Id : 60092912491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRM & IR RN aTel Arsd H Half, Riefm, SfORT 3R Heuie M | Uie-aR0r Aisd | o1 SISt 77 1?2
Options :

1. * yfRrafor

2. % 34

3. % QUDPR

4. % MU fard

Question Number : 217 Question Id : 60092912492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is the model of HRM that emphasizes four functions of management and their interrelatedness: Selection, Appraisal, Development and
Rewards. This model is incomplete as it ignores all other environmental and contingency factors. Name the model.

Options :



1. ¥ Fombrun Model

2. % Ulrich Model

3. # Karen's Model

4. % Purcell and Ahlstrand Model

Question Number : 217 Question Id : 60092912492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig HRM HT AISH ¢ ol TeeH & IR BT 3R 3% IRER a8 TR SR &l §: I3, e, [aeT 3R REBR | I8 ArSd 31eRT § i
Tg 3 gt TierR U 3R 3T HE HRGI Bt U BT § | AlSH BT TH Jdsu|

Options :

1. ¢ TltsH 4igd

2. % IdRT Aled

3. % P P HISA

4. % T 3R AL AlSA

Question Number : 218 Question Id : 60092912493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘expatriate' defines:

Options :

1. ¥ Workers transferred from their respective State to state

2. % Workers transferred from 1 SBU to any of their SBUs

3. ® Workers transferred from their respective SBUs to their home country.

4. ¥ Workers transferred from their respective home countries to any of their SBUs

Question Number : 218 Question Id : 60092912493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT RTeg fhgep! URHTT Pl &:

Options :



1. % YD ol Id Fafdd I ¥ I H IR BT

2. % Yff®I Y 1 SBU T I foodlt Y SBUs H RIMIARG fovar T

3. % 4Dl DI & ASfAT SBUs ¥ 3 g S/ H RITHIRd fovam |

4. ¢ HIUP] B I HeifYd T8 <=M W I bt vt SBUs T RIHiaRd favar man

Question Number : 219 Question Id : 60092912494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do you understand by sustainable development?
Options :

1. # To choose wisely

2. # Developing society

3. % Use and save for future generation

4. % Use limitless

Question Number : 219 Question Id : 60092912494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ad fas & SY 7 THed 62

Options :

1. % gigHM ¥ g & fog

2. % fgeprereiier g9l

3. « JUANT BT 3R Hiasw ot het & forw s=mn
4. % SIHC IUGT HRAT

Question Number : 220 Question Id : 60092912495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, which one is an example of a so-called non-valuated resource?
Options :

1. ¢ Biodiversity



2. % Land
3. % Water
4. % Air

Question Number : 220 Question Id : 60092912495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tq faehedl § § HH-I1 FUTBRIT IR-Heud JHTe BT ITeRl 82

Options :

1. ¢ Sia fafaear

2. % Yy

3. % old

4. % dig
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Question Number : 221 Question Id : 60092912496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human Resource can be defined as-

Options :

1. ¥ The number (quantity) and abilities (mental and physical) of the people.
2. % Made by humans

3. # Made by nature but introduced by humans

4. ® The quality and quantity of the resources

Question Number : 221 Question Id : 60092912496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT ST B 39 UHR URYT [T S Fahvdl 6:
Options :

1. ¢ QI 1 TRSAT (FET) S1R &S (HHRTS 3R RN |
2. % O gRI &1 T4

3. % Ui gRI Ha dfde Tl g1 o= fosam ran

4. % YT DT O SR AT

Question Number : 222 Question Id : 60092912497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the options is a type of Share Capital?
Options :

1. # Load stock

2. % Dead stock

3. ¥ Common stock

4. # (Capital Stock

Question Number : 222 Question Id : 60092912497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P I faded YR olt &1 Uh UHR 82
Options :

1. % A Kb

2. ¥ UUY K

3. ¢ HH XIH

4. % Uofl €

Question Number : 223 Question Id : 60092912498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is not a fossil fuel?
Options :

1. % Oil

2. % Gold

3. # Natural Gas

4, % Coal

Question Number : 223 Question Id : 60092912498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed & & SH-91 SiaRy S99 T8 o7

Options :



1. % qd
2. ¢ Tl

3. % UIpids
4. % BT

Question Number : 224 Question Id : 60092912499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of their development and use resources can be classified as:.
Options :

1. ¥ Actual and potential resources

2. #® Equity and Growth resources

3. # (Capital and stock

4. % Renewable and non- renewable resources

Question Number : 224 Question Id : 60092912499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 I 3R SUANT & YR TR AL D1 3 UHR F g [T Sl Habdl 6:
Options :

1. ¥ ARdfdes 3R FHIfad e

2. % 3B IR ATy T

3. % Uoit 3fR Wi

4. % TRPRUMY SR SFBRUNY TaTe

Question Number : 225 Question Id : 60092912500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a human made resource?
Options :

1. % Coal



2. * Tron ore
3. % Technology
4. * Island

Question Number : 225 Question Id : 60092912500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafed & 3 oF aHa Fita W g
Options :

1. % DI

2. % TIg 3D

3. ¢ TR

4.% gy

Question Number : 226 Question Id : 60092912501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

World Commission on Environment and Development (WCED) is also known as:
Options :

1. % Environmental report

2. % Ecological economic report

3. % Development report

4. ¥ Brundtland Report

Question Number : 226 Question Id : 60092912501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UgiaRU T4 faehT UR g 1Y fay S & U H 4 S el 6:
Options :

1. % ggiaRuig RUré

2. % yIRfRUfaew anfdies Ruré




3. % fomrg fyard
4. ¢ scos e

Question Number : 227 Question Id : 60092912502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is a child soldier?

Options :

1. ¥ any person below 18 years of age who is or who has been recruited or used by an armed force or armed group in any capacity
2. # any person below 18 years of age who illegally work with armed forces

3. % any person below 18 years of age who is forced to be exploited.

4. ® any person below 18 years of age who illegally forced to be sexually exploited

Question Number : 227 Question Id : 60092912502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdt D B 72

Options :

1. ¥ 18 9N J HH G BT DI Ht faa it farat Hf &mar & T=Ra 9o A1 IR JHG GRT Hd a1 IGART fovdm 71 8
2. % 18 T8 Y HH Y BT HIg N Al N1 A8 U F TR Il b 1Y HTH Rl §

3. % 1898 J HH Y BT Pis it Al o Mwor & e AoieR faran T g

4. % 1395 U HH Y BT Dis U Al ORI a8 U I A MW7 & o ForeR o T g1

Question Number : 228 Question Id : 60092912503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Section 83(2) in 2007 is for:

Options :

1. # Juvenile Education

2. ¥ Juvenile Justice

3. # Juvenile rights and duties



4. % Juvenile Jails

Question Number : 228 Question Id : 60092912503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2007 ¥ URT 83(2) & fere &:
Options :

1. % fH=IR fRram

2. ¢ {HIR T

3. % fHRIR SHRIBR 3R HdH

4. % {HRIR oId

Question Number : 229 Question Id : 60092912504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Constitution of India gives the right to life and liberty and states: No person shall be deprived of life or personal liberty
except according to procedure established by law?

Options :

1. ¥ Article 2B
2. # Article 19
3. % Article 21
4. #® Article 4B

Question Number : 229 Question Id : 60092912504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT HAUT BT B AT 356, Sia- 3R Wo=dl BT HABR Gl § R Hadl §: DI gRI R Ufeham o SR fobddt of sfad &t
Sid T AfddTTd WaAdT I dfeid el T ST
Options :

1. % 3[J=dq 2B
2. % 3G 19
3. ¥ 309G 21




4. % 3G 4B

Question Number : 230 Question Id : 60092912505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the POCSO Act about?

Options :

1. # The POCSO Act is a special law enacted to deal with the Traffic in human beings and beggar and other similar forms of forced labour are
prohibited and any contravention of this provision shall be an offence punishable in accordance with law

2. ¥ The POCSO Act is a special law enacted to deal with the sexual abuse of children. A wide range of sexual offences are covered by this law
and it addresses offences against all children below the age of 18 years irrespective of gender.

3. % The POCSO Act is a special law enacted to deal with no child shall be subjected to torture or other cruel, inhuman or degrading treatment
or punishment. Neither capital punishment nor life imprisonment without possibility of release shall be imposed for offences committed by
persons below eighteen years of age.

4. % The POCSO Act is a special law enacted to deal with no person who is arrested shall be detained in custody without being informed, as
soon as may be, of the grounds for such arrest nor shall he be denied the right to consult, and to be defended by, a legal practitioner of his choice.

Question Number : 230 Question Id : 60092912505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

POCSO AT fFg F IR A 32

Options :

1. % pOCSO AR A 3R RN # aet ¥ e & fore Sififafid faRiy S 8 iR S8 dRE & 30 THH ISR & & 91
A & 3R 39 UrauT &1 Big i SeieH B & ST H G810 SORTE g

2. ¢ POCSO SHAFTH T & A 0T § FAge 3 forg Fmam mat fa=iy A g | A SrR1edt &) favgd el 39 ST gRT 311 &1 T8
g 3R TE 18 TN I HH MY & Tt S & RIATH SRl o1 Fad Hcil 7, Te a8 ot oft e w1 8t

3. % pOCSO HTITTH T fa=Is & & Sl fopelt oft o= ¥ e o forg s an § o1 ard=n a1 o/ R, SEdg a1 U old
TAER T <8 P e TeT b aT ST | SI6RE I8 A HH 31 b AGadl gIRT {HT MY 3RTEN F e 7 o Gges 3R 7 €t Re18 Bl T
fSFT SMTSfia HRIAT T SIE |

4. % pOCSO AT U faRw w11 3§ SN fomdt ot safaa @ FRue & fore siffFafia foran war g R fiRwaR forar man 8, 39 s9 @Re
&1 TRUART & YR & IR H, a1 STedt! 81 b, Jfrd fory T iRy o ar oimeem iR 7 8 38 IRl e & fYeR 4 dfd farar
SITQ, 3TR 3O UG & BT Saaudl gRT §1d [T oI Il § |




Question Number : 231 Question Id : 60092912506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the national child educational law, till what age a child should be compulsorily provided education?
Options :

1. % 6-18 years

2. % 6- 12 years

3. ¥ 6-14 years

4. % 6-22 years

Question Number : 231 Question Id : 60092912506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ST FR16f BT b SR, g 1 [y 31y T 3ffard U 9§ e <t St =g e
Options :

1. % 6-18 94

2.% 61299

3.¥6-14TY

4. % 62294

Question Number : 232 Question Id : 60092912507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The United Nations Convention on the Rights of the Child (UNCRC) defines a child who is-
Options :

1. # Anyone below 10 years

2. ¥ Anyone below 18 years

3. % Anyone below 21 years

4. ¥ Anyone below 6 years

Question Number : 232 Question Id : 60092912507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ITe SHIYBHRI TR TG Y T (UNCRC) & DT URHIT Rl 8 ol 3:
Options :

1. % 1099 Y HH BT Pl ot

2.¢ 13U A HY HI DIs ft

3. % 21 WA HY BT DIg

4. % 6N Y HH BT DI ot

Question Number : 233 Question Id : 60092912508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first stage of Adolescence is-
Options :

1. ¥ Early Adolescence

2. ® Primary Adolescence

3. % Primitive Adolescence

4. ® First Adolescence

Question Number : 233 Question Id : 60092912508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foPRIRTIRT T YYH TRT 5:

Options :

1. ¥ URIYS fohIRTaRAT

2. % YIYfHeh fh=IRTaRIT

3. % 3fTieH fhIRTaRT

4. % Ugail fopRIRTaRAT

Question Number : 234 Question Id : 60092912509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name the term which is measured by bone age, and is the most useful biological indicator of overall physiologic maturation.
Options :

1. % Bone Development

2. ¥ Skeletal Maturity

3. # Skeletal Development

4. ¥ Bone Maturity

Question Number : 234 Question Id : 60092912509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I (e BT A JdT2y Fo 1R 3T J ATGT 11T €, 3R I8 T ARG TRuSHdr &1 9 IugRit Sifad ddhds g
Options :

1. % Y famr

2. ¢ by URTed

3. % Hplay [dprd

4. % 3R YRSl

Question Number : 235 Question Id : 60092912510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Peak height velocity (PHV) is attained in which stage?
Options :

1. # School age

2. # Infancy

3. ¥ Adolescence

4. # Pregnancy

Question Number : 235 Question Id : 60092912510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g g1 & TRA FHaTs A (PHV) UTH BidT 82

Options :



1. % faemer ey
2. % TRIgraR
3. ¢ fHRIRIGRT
4. ® THGRT

Question Number : 236 Question Id : 60092912511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which skills grows and matures in a child giving him/her the ability to understand the world and people around him/her and to function
independently?

Options :

1. ¥ Cognitive skills
2. # Mental alert skills
3. % Determined skills

4. % Concentration skills

Question Number : 236 Question Id : 60092912511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁaﬁqmﬁwmaﬁvmm%mﬁsﬁgﬁmeﬁ?mW%Wﬁﬂ@ﬁ@?%@ﬁﬁﬁﬁm
)

Options :

1. ¢ TYHTHS DI

2. % OHARY® Jdra SIgd

3. % fulfd Hiea

4. % UHIIA HINA

Question Number : 237 Question Id : 60092912512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India’s first and the world’s largest, 24-hour telephonic helpline service that works for children in distress across the country is:
Options :



1. % 198
2. % 1075
3. 91098
4. % 1021

Question Number : 237 Question Id : 60092912512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA P Ugall 3R a1 & oY 981, 24-° HI TAHDIA geudg Jal ot G HR H Yheud F=d! o (o8 H1H HR«l §, I8 6:
Options :

1. % 198

2. % 1075

3.9 1098

4. % 1021

Question Number : 238 Question Id : 60092912513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While screening for which process, its important to view child from front, back, and side, in erect and forward-bending positions?
Options :

1. # Skin fold measurement

2. % Body Mass Index

3. # Anthropometric Measurements

4. ¥ Scoliosis Check

Question Number : 238 Question Id : 60092912513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg vifshan & fore i xd Ty, 9= 1 o), Ul SR oTel 4, Y SR SiM-3[eh 1 R & ST Agayui 82
Options :

1. % Gaater A1g (e wics AvRHe)




2. % YRR GHHM JIABID
3. % HHEAEag 719
4, ¢ TBghdl ofid

Question Number : 239 Question Id : 60092912514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who can help families prepare for the major changes that will take place during a child's adolescence?
Options :

1. % Teachers

2. ¥ Health professionals

3. #® 0Old Age people

4. % Books and Novels

Question Number : 239 Question Id : 60092912514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI U 90 P B ARG B SR 814 910 98 dedrdl & g TRaRY &1 R &1 H Heg B Ihdl 82
Options :

1. % &b

2. ¢ WY At

3. % g AN

4. % TP 3R ITAN

Question Number : 240 Question Id : 60092912515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which granules contain both linear amylase and branched amylopectin?
Options :

1. ¥ Starch

2. # Carbohydrates



3. * Polysaccharides

4. ¥ Monosaccharides

Question Number : 240 Question Id : 60092912515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fora SivrepTall # YR el IR TMRad THTgarifae aiHi gid g2
Options :

1. ¥ HS

2. % HERIESC

3. % GERIDH

4, % THADR]
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Question Number : 241 Question Id : 60092912516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which components are long-chain carboxylic acids that usually have between 12 and 24 carbon atoms and have no double bonds?
Options :

1. ¥ Saturated fatty acids

2. ® Unsaturated Fatty Acids

3. % Polysaccharides

4. % Disaccharides

Question Number : 241 Question Id : 60092912516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Y UCh Aa-3Rae T BT TRICTd 3 Bl & o0 SHTHAR TR 12 ¥ 24 BT TRV 814 § 3R 370 I3 [g-3ATa~ T8l aIdl 82
Options :

1. ¢ g Hhel TS

2. % W Bl TS

3. % SN

4. % SEAPRISS

Question Number : 242 Question Id : 60092912517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the most commonly used method of protein estimation which is easy to perform and is very sensitive?



Options :

1. # Nessler reaction

2. ¥ The Lowery's method

3. % Soxhlet Extraction Method

4. # Ninhydrin reaction

Question Number : 242 Question Id : 60092912517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 e ! Tad 31fid ITANT B ST aTal fafd DI I g S Fefed a3 § S § 3R 9gd dde-=id g2
Options :

1. % %R RuarH

2. ¢ d A AYS

3. % Fiade TRIcaRH Ys

4. % fgTsfe Ruawm

Question Number : 243 Question Id : 60092912518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Enzymes are very specific because both the enzyme and the substrate possess specific complementary geometric shapes that fit exactly into one
another, that model is called:

Options :

1. % Triangular Model

2. ¥ Lock and Key Model
3. ¥ Hexagon Model

4. % Pentagonal Model

Question Number : 243 Question Id : 60092912518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W@gﬁmﬁﬁ%aﬂﬁ?m@ﬁvwaﬁﬁmwmﬁ?ﬂu&waﬁ%%ﬁ ficpd U R H fihe 810 8, ST Alsd &)
CZASIGIE




Options :

1. ® Ao gigd
2. ¢ Wi TS DI AlSd
3. % YU Algd

4. % GgYoilg gied

Question Number : 244 Question Id : 60092912519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At a certain pH known as the isoelectric point, the number of protonated ammonium groups having positive charge and deprotonated carboxylate
groups having negative charge are equal, resulting in a net neutral charge. That Ion is known as:

Options :

1. # Isoelectric Tons
2. ¥ Zwitterion Ions
3. # Zero lons

4. % Tonizable lons

Question Number : 244 Question Id : 60092912519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Ff3d pH TR IS Sifaiigaice fdg & &0 8 ST ST 8, Seleteh MafR1d UIeiHeS SMlfaH Tgl o1 W iR B SHTa dTel
MRS Feiauae TUg THH g1l &, Forad URUTTRGEY g SR STa 811 1 S S B 99 =718 § ST offell 8-

Options :

1. % JfiAudfacd T
2. ¢ TGaeReA amH

3. % QY A

4. % 3D T

Question Number : 245 Question Id : 60092912520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Vitamin most often forms from intestinal bacteria in the body?



Options :

1. # Vitamin E
2. ¥ Vitamin K
3. # Vitamin - A
4. #* Vitamin - B6

Question Number : 245 Question Id : 60092912520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 fAeTor SRR IRR A 3ffdl & AT ¥ §dT 82
Options :

1. # faerfem E

2. ¢ faerfi K

3. % fqerfed - A

4. % f3eTfi - Be

Question Number : 246 Question Id : 60092912521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which salt should be used in all food preparation, even if it costs more, to avoid goitres which occur in many parts of the world?
Options :

1. % Sea Salt

2. ¥ Jodized Salt

3. % Rock salt

4. # Non lodized Salt

Question Number : 246 Question Id : 60092912521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁm%ﬁ%@ﬁﬁﬁaﬁ%ﬁnﬁaﬁ%ﬁmﬂlﬁmwﬁuﬂw% A P T THS IR fobat ST A1RT, Ha &) 9T H HfdH
?

Options :



1. % Qb D
2. ¢ IS god 0D
3. % gy P
4. % 3o gd THD

Question Number : 247 Question Id : 60092912522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An increasing number of youngsters, especially females (such as models and actress) go through stages of eating large amounts of foods (high fat
sweets) and then get rid of it by vomiting. This disorder is called

Options :

1. # Overeating Outcome
2. % Bulimia Nervosa
3. #* Anorexia Nervosa

4. # Frequent Vomiting Syndrome

Question Number : 247 Question Id : 60092912522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faraii B g T, ARy U & AR (G Aisd 3R ) 9t /e § @y verd (I a9 ardl fers) @M 3 =Rl | TeRd §
3R AR Iec! v 3O I ol & | 39 AR P HEI A 5|

Options :

1. % 34 W@ BT URUMH
2. gfaferan Tafer
3. % TIRRTIT Aafe

4. % gRER BIdl Sec] HIA BT AT

Question Number : 248 Question Id : 60092912523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bile acids that are needed for fat digestion are formed from
Options :



1. ¥ Cholesterol

2. % Bile stored in liver

3. % Pancreatic Juices

4. % Mucus and Hydrochloric Acid

Question Number : 248 Question Id : 60092912523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 & YT & for sraxges O s REERE]
Options :

1. ¢ DI

2. % gopd § fUI ST glaT §

3. % WRIY

4. % FOTH 3R T SIaAND 3

Question Number : 249 Question Id : 60092912524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mixture of glucose and fructose used in preparation of candies and icing is called

Options :

1. # Whipped Sugar
2. ¥ Invert sugar

3. # Caramel Sugar

4. # Concentration Sugars

Question Number : 249 Question Id : 60092912524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el 3R MR IR FRA T Ugad T ol 3R Haeisl & [0yl Hl HEI ST |
Options :

1. % P LR




2.+ 3UGT DR
3. % HRAA AT
4. % Fig YDA

Question Number : 250 Question Id : 60092912525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What breaks starches into maltose and dextrins?
Options :

1. # Lipase

2. # Sucrase

3. ¥ Pancreatic Amylase

4. % Isomaltase

Question Number : 250 Question Id : 60092912525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B TS B AT 3R Safe T 47 FHRa 82
Options :

1. % QU

2. % bl

3. ¢ ST Uit

4. % 3fTSHMHTCCS

Question Number : 251 Question Id : 60092912526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Breakdown of complex substances to simpler ones is known as
Options :

1. ¥ Metabolism

2. ¥ Catabolism



3. #* Anabolism

4. ¥ Energy Absorption

Question Number : 251 Question Id : 60092912526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfed Tarl &1 IRa gardl & Hi &l & U H THE A&
Options :

1. % IYUdy

2. ¢ HerEiieed

3. % TATEIeH

4. % 3l I

Question Number : 252 Question Id : 60092912527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In digestion chewing of food, swallowing of food, churning action in the stomach and rhythmic contraction of the intestinal tract are:
Options :

1. % Absorption

2. % Adsorption

3. % Mechanical Processes

4. ¥ Utilization

Question Number : 252 Question Id : 60092912527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qre § 1o 1 FaTI, HISH & FTeT, O § sare- fhar 3iR 31T 9y &1 dudg 9%d- &
Options :

1. % 3ROl

2. % iR

3. ¢ gifAd Ufhary




4. % IR

Question Number : 253 Question Id : 60092912528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dietary deficiencies of amino acids, carbohydrates and essential fatty acids have been linked to psychological disorder called
Options :

1. ¥ Depression

2. % Mental Pressure

3. % Fatigue

4. ¥ Anxiety

Question Number : 253 Question Id : 60092912528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3, FIETRISSC 3R ARSI 37 B ATER Taieft Ha Bi I & FAIOIAS [AHR I SeT T 5|
Options :

1. ¢ 3Hddlq

2. % HHRYS GaTd

3. % Yl

4. % a1

Question Number : 254 Question Id : 60092912529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to NIN, about 1/5th of our diet which means how much % should be devoted to fats of all 3 kinds - polyunsaturated, monounsaturated
and omega-3 fatty acids?

Options :
1. % 0.25
2.%0.2
3. % 0.35
4. % 0.3



Question Number : 254 Question Id : 60092912529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NIN & 3R, §HR 3MER BT IHT 1/5 HIT 3T Tt 3 YebR ob T - Tleil RGeS, HSHHERes 3R SiH -3 a4 31 o ey
febaT 9 AT BT =BT

Options :

1. ¥ 0.25

2.¥0.2

3. %035

4. %03

Question Number : 255 Question Id : 60092912530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which institute introduced The food guide pyramid in 1992?
Options :

1. ® National Institute of Nutrition (NIN)

2. % United States Department of
Agriculture (USDA)

3. # Agricultural Marketing Service, U.S. Department of Agriculture(AMS)
4. ® Agricultural Research Service, U.S. Department of Agriculture(ARS)

Question Number : 255 Question Id : 60092912530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1992 H ford TRIH A B8 TS S RIS Dl B3 D12
Options :

1. % P U1 SR

2.« TG Iy 3ARBT BT HY faumT

3. % HfY fquuE ¥ar, u.s. HN faum

4. % By IHYM Yal, U.S. Y faUmT



Question Number : 256 Question Id : 60092912531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The numerous chemicals, tested and permitted by law to be added to food, are called:
Options :

1. # Artificial Colours

2. ¥ Food Additives

3. # Convenience food

4. ¥ Adulterated Foods

Question Number : 256 Question Id : 60092912531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yo & a1 aTdt &g XATa1, Sl URT&I0T fhT 1T 3R TH R 3iHd &, 39 $el olldl 5
Options :

1. ® AT

2. ¥ Q@ TS

3. % gfaursH® HioH

4. % foreact @ uard

Question Number : 257 Question Id : 60092912532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

comprises a set of techniques that can provide analytical information of the sensory attribute of food or nonfood products to
define the technical specification of the product and the hedonic perception of that product as defined by the user/consumer.

Options :

1. * Food Analysis

2. % Sensory Evaluation
3. % Food Preferences
4. % Food Standards



Question Number : 257 Question Id : 60092912532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& qh-1! BT THg M g Sl ST b dD-1d] [AHGRT 3IR STARTHA/SUHIT gRT TRHTIT 3T SMIE HI goli-d YR &I
TR &= 3 forg ey a1 TR-WTey STel Bt e fa=IvdT &t faRawunes THERI Ue 3R Fdhd 8|

Options :

1. % Qe fagewur
2. ¢ Yddl Peich
3. % QY agan
4, % dIg] HID

Question Number : 258 Question Id : 60092912533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the example of water in oil emulsion?
Options :

1. ¥ Margarine

2. % Mayonnaise

3. # Cream soups

4. % Jce cream

Question Number : 258 Question Id : 60092912533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & I & 91 ad g™ 8 Ut ST 31610l 82
Options :

1. ¢ HoRH

2. % BN

3. % By

4. % IMSHHH



Question Number : 259 Question Id : 60092912534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bread crust lacks in which nutrient as compared to the crumb?
Options :

1. # Carbohydrate

2. # Fat

3. % Protein

4, % Vitamins

Question Number : 259 Question Id : 60092912534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 A U THe DI g | [y TN dd &1 4l gl 82
Options :

1. % FHEERgC

2. % g4l

3. ¥ UIcH

4. % fqerfeq

Question Number : 260 Question Id : 60092912535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of RDA?

Options :

1. % Required Dietary allowances

2. ¥ Recommended Dietary Allowances
3. % Rapid acting Dietary Allowances

4. ¥ Routine Dietary Allowances

Question Number : 260 Question Id : 60092912535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks :

RDA &1 Ul JU= &1 82
Options :

1. % RpIs SEedt Ay

2. ¥ THHUIT SE] ANy

3. % YUs ufaeT S5} 3rady
4, % T SRR AT
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Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 60092912536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the medium of all cell fluids, including digestive juices, lymph, blood, urine and perspiration?
Options :

1. % Protein

2. ¥ Water

3. # Solvents

4. % Minerals

Question Number : 261 Question Id : 60092912536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTa 3, ATeT, Xad, T3 iR U1 afgd Geft SRt goa &1 Arend o1 82
Options :

1. % i

2. ¢ UMt

3. % fadrgs

4. % QRS uer

Question Number : 262 Question Id : 60092912537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which nutrient is the most abundantly present in humans, representing 52% of the body's mineral content and amounting to 1.2% of body
weight?

Options :

1. # Potassium

2. # Sodium

3. % Calcium

4. ¥ Phosphorus



Question Number : 262 Question Id : 60092912537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & D 1 OIS dd Ja 31fd A1 H AiN[g ©, ST IRR &1 @il AR &1 52% 3R IRR & HR BT 1.2% &2
Options :

1. % gy

2. % [iiegH

3. ¥ dHifcqay

4. % BREHRY

Question Number : 263 Question Id : 60092912538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which are the two components the body is composed of?
Options :

1. ¥ Body Mass Index and Ideal Body Weight

2. # Anthropometric Measures and Body Mass Index

3. % Height and Weight

4. ¥ Fat Mass and Fat Free Mass

Question Number : 263 Question Id : 60092912538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRR 5 g1 ged! A ST 82

Options :

1. * YRR ST i MR 3Meef IRR YR
2. % AFATHTAT AT 3R IR GHHH JAHiD
3. % $as 3R UR

4. ¢ I gHHTT HIY 3R OIHI-(I%CI GOoqH[A




Question Number : 264 Question Id : 60092912539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A type of chemical found in small amounts in plants and certain foods (such as fruits, vegetables, nuts, oils, and whole grains) that performs
actions in the body that may promote good health.

Options :

1. ¥ Bioactive Substances

2. # Biochemical Substances
3. # Peptide Substances

4. % Non Biochemical Substances

Question Number : 264 Question Id : 60092912539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3R $3 W Uardf (S Td, Jfeor, 79, ad 3R A1 31T H &H A § U1 S ardl U6 YHR &1 9194 ol TRR J T Sl
BT & ST 3= WA & 9¢1aT ¢ Johal |

Options :

1. ¢ Sa9fhy yard

2. % SRNRMS g
3. % UpIgs uery

4. % TR RS ueref

Question Number : 265 Question Id : 60092912540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The deficiency symptoms which were seen in sailors led to the discovery of which Vitamin?
Options :

1. # Vitamin E

2. ® Folic Acid

3. % Vitamin C

4. % Pyridoxine



Question Number : 265 Question Id : 60092912540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifdep! H U ST aTcd T & W&l & b faeTiem &1 @i g32
Options :

1. % fqerff B

2. % hIfeTd 3%T

3. ¢ faerfiF ¢

4. % UTORSIRA

Question Number : 266 Question Id : 60092912541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the given Vitamins which one is the fat soluble vitamins that refers to a sub-group of retinoids that possess the biological activity of all-
trans- retinol?

Options :

1. # Vitamin - B12
2. # Vitamin- K

3. % Vitamin - A
4. # Vitamin - E

Question Number : 266 Question Id : 60092912541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u u faetfom # 9 19 91 o & ga=iia faerfdq g o ¥eAIssd & IU-g &I Aafiid Hrdl § ford $ffd-gra-Xferra &t sifd
TTfafafy gt &

Options :

1. % faerft B12

2. % fqeif K

3. ¢ faeIidF - A

4. % faerfoF - E




Question Number : 267 Question Id : 60092912542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A diet which is a quantitative/ qualitative modified version of a basic nutritious diet which has been tailored to suit the changing nutritional needs
of a patient/ disease condition is called:

Options :

1. # Clinical Diet

2. % Nutritious Diet
3. % Therapeutic Diet
4. # Healthy Diet

Question Number : 267 Question Id : 60092912542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R S U gATe! Ui SHTER &1 AT A0S SN AXbRuT § for R &1 RUfT 31 dgad uivor el sraxadmarsi
& U I T 5, 3 HgT Sl -

Options :

1. % AP 3ABR

2. % Uiy 3MER

3. ¢ TIfb g 3R

4. % W AR

Question Number : 268 Question Id : 60092912543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Therapeutic Diet is-

Options :

1. # Food that is served in airplanes

2. # Milk shakes provided at gyms

3. % a meal plan that controls the intake of certain foods or nutrients

4. # Diet during Lactation



Question Number : 268 Question Id : 60092912543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofreiia SMER 3

Options :

1. % BaTg ofgTel § URINT ST+ ara @

2. % o o fe&an ST fifes QAh

3. ¢ IS 1o Sl $ Qe Ui 1 Uives dadl o ad &l (afd w8
4. % UM & R MER

Question Number : 269 Question Id : 60092912544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method of eating is recommended when oral feeding is not possible?
Options :

1. ¥ Enteral and Par-enteral Feeding

2. ® Spoon Feeding

3. # Supplements Feeding

4. ® Injection Feeding

Question Number : 269 Question Id : 60092912544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T HIoH THT TET § O W &1 1= Tt f3fy ot Ryefesy ) Sivelt 82
Options :

1. ¢ TeRd 3R WRI-Texd R0

2. % g Y e

3. % TR 3ER

4. % SO Y R

Question Number : 270 Question Id : 60092912545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The condition when stomach acid frequently flows back into the esophagus is called:
Options :

1. # Peptic Ulcer

2. ¥ Gastroesophageal reflux disease

3. % Dysphagia

4. % Diverticular disease

Question Number : 270 Question Id : 60092912545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g R Sfa Ue 1 3T IR-SR 109 FrgTelt & UaTed 81T 2, S8 Bl odl &:
Options :

1. % TP R

2. ¢ R et fesio

3. % fExhiomn

4. % SACHER f&oiter

Question Number : 271 Question Id : 60092912546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to ICMR, how much Energy and Protein is present in the normal hospital diet given in hospitals to a patient?
Options :

1. % 2000-2100 kcal , 40-45gm Protein

2. % 1700-1800 Kcal , 50-55gm Protein

3. # 1900-2000kcal , 40gm Protein

4. ¥ 1600-2200Kcal , 40-70gm Protein

Question Number : 271 Question Id : 60092912546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ICMR & 33R, 3RYATA H TR &1 fU S aTd G SRUYAT o HER F favat SHotl 3R W HAe[G gidl 67
Options :

1. % 2000-2100 keal , 40-45gm UICHH

2. % 1700-1800 Kcal , 50-55gm WIEH

3. % 1900-2000kcal, 40gm U

4. ¥ 1600-2200 Kcal, 40-70gm I

Question Number : 272 Question Id : 60092912547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which diet is given to all patients who cannot eat via digestive system (mouth to stomach feeding)?
Options :

1. # Hospital Nutrition

2. # Enteral Nutrition

3. % Total Par-enteral Nutrition

4. ¥ Tubular Nutrition

Question Number : 272 Question Id : 60092912547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Y A B I 1 SHTER & Sira g S uted o (48 9 Ue B HISH UgdT) & ATegH § T8 @ ahd 87
Options :

1. % 3T Uy

2. % U Uil

3. ¢ $d UR-URd Uiy

4. % HIETR U]

Question Number : 273 Question Id : 60092912548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A polymeric mixture supplied commercially while tube feeding is called -



Options :

1. # Supplements
2. % Complan

3. % Liquid Diet

4. % Natural Food Juices

Question Number : 273 Question Id : 60092912548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTd BIfSTT & SR TS U ¥ MY [T T a1l Sgad 01 &1 Bl Al 6:
Options :

1. % gwidcy

2. ¥ B

3. % gd 3R

4. % YIpidd W Y

Question Number : 274 Question Id : 60092912549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options, which of them are hydrophilic and are dispersed in solution as colloids?
Options :

1. % Bleaching and Maturing Agents

2. % Emulsifiers

3. ¥ Stabilizers and Thickeners

4. # Antioxidants

Question Number : 274 Question Id : 60092912549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U faswedl § ¥, B gIESIithiad § iR faaa # wlalss & ¥u § uRféna g2
Options :




1. % fo¥o ok uRus Tole
2. % UHIBR]

3. ¢ Raargor 3R fUHR
4. % YiASRiPRSG

Question Number : 275 Question Id : 60092912550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is considered as a good indicator of the quality in addition to giving pleasure?
Options :

1. ¥ Colour

2. % Texture

3. % Size

4, % Taste

Question Number : 275 Question Id : 60092912550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & & Sffafad fog o7 & T[uTa &1 3T Aobdd HIHT ST 82
Options :

1.«

2. % CHOR

3. % 3[dR

4. % Wlq

Question Number : 276 Question Id : 60092912551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Genetic background of a particular species is responsible for its which parameter?
Options :

1. % Texture Parameter



2. ® Size
3. #* Nutritive Parameter
4. ¥ Quality Parameter

Question Number : 276 Question Id : 60092912551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foeft fary gremfay &t eirafRes gyyfty 39 fory e & o fomieR 82
Options :

1. % CoRIR U

2. % JH[bR

3. % UIYS Yrad

4.« UGl Yr<dl

Question Number : 277 Question Id : 60092912552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mushrooms could contain-

Options :

1. # Bacterial Spores

2. % C. Botulinum

3. # Coliform

4. ¥ Rodents

Question Number : 277 Question Id : 60092912552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHYT H gl Thdl 6:
Options :

1. % SIqTY] ST
2. ¢ C.digfe



3. % BICBIH
4. % PHdd

Question Number : 278 Question Id : 60092912553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of GMP?

Options :

1. ¥ Goods Manufacturing Practice

2. # Grey Market Premium

3. % General Merit Private

4. ® Guanosine Mono Phosphate

Question Number : 278 Question Id : 60092912553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GMP &1 JUl U0 &1 87

Options :

1. ¢ T8 AgthaaiiT Hfged

2. % Y AT Wiw

3. % SR AR Urgde

4. % TR HIHI BhIhe

Question Number : 279 Question Id : 60092912554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to FSIS HACCP, is defined as any biological, chemical, or physical property that may cause a food to be unsafe for human
consumption.

Options :

1. #® Adulteration

2. ¥ Food Safety Hazard
3. # Chemical Mixing



4. % Bacterial Infection

Question Number : 279 Question Id : 60092912554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FSIS HACCP & 3SR, P! fopdt Y Sifge, Tamafae a1 wifde dufy & w=u & gRyiiid fosar man 8 g SRor Hie AMg
SUHIT & T SRRIEM 81 It g |

Options :

1. % 3OfHs

2. TTE R TRT
3. % YNAAS Ay
4. % SIQT0] HehH0l

Question Number : 280 Question Id : 60092912555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the centimetre gram second system of unit (CGS unit) force is expressed in which form?
Options :

1. # Newton

2. % Dyne

3. # Kilojoule

4. ® Mass + weight

Question Number : 280 Question Id : 60092912555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3PBTS oI TR U b s ReH (CGs 318) H 9 fobg T4 & e b &rar 82
Options :

1. % Y-

2. % SIUA

3. % fdald



4. % GOOHM + YR

Teaching Methodology
Group Number : 15
Group Id : 600929524
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 600929679
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929813
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 60092912556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of thinking is careful and deliberate determination of whether to accept, reject, or suspend judgment?



Options :

1. % Abstract Thinking
2. % Reflective Thinking
3. ¥ Critical Thinking
4. # Logical Thinking

Question Number : 281 Question Id : 60092912556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR &1 Rid Aol 1 WHR B, SRABR H3 A1 Fafad HA & IR T Fae™ R gioamd Hya g2
Options :

1. % 3 fdaq

2. # foueff fias

3. ¢ JTAATHS fidT

4. % qIfhep fiaT

Question Number : 282 Question Id : 60092912557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of Group Dynamics, the group achieves optimum efficiency and work gets done?
Options :

1. % Norming

2. ¥ Performing

3. ¥ Storming

4. % Mourning

Question Number : 282 Question Id : 60092912557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g URadHIAD o foh oR0T H, THE SVaH Gerdl UT $HRdl § SR ST 17 fan SIrem 82
Options :




1. % grFdS
2. ¥ U&xH
3. ® TWIHT
4. % qd

Question Number : 283 Question Id : 60092912558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The members of the group have to adhere to the rules set by the group. Which characteristic of group dynamic is this?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Abstract

2. Leadership

3. Resistance

4. Interdependency

Question Number : 283 Question Id : 60092912558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR b YT &1 G gR1 (Aeiia Fawi &1 ured &1 8id1 2 | T8 I uRacd-Tere & SIH-3t fagivar g2
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 3

2. 99
3. ufeRIY

4. SfafRa



Question Number : 284 Question Id : 60092912559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A recipe tells us how to prepare a particular cuisine item. Name this type of text.
Options :

1. # Reflexive Text

2. # Informative Text

3. ® Persuasive Text

4. % Instructive Text

Question Number : 284 Question Id : 60092912559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ao fafdl g8 Fard! g fob fordt faRIN ol &1 hdl R a1 JY | $9 UHR & U1 &1 AH Jaigy|
Options :

1. % fou=ifurg

2. #® d-IHD UlS

3. % IRS UG

4. ¥ TR&M9G U8

Question Number : 285 Question Id : 60092912560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following options and select the appropriate option regarding its truthfulness.

Statement I - Managerial Questions: Questions framed and used to keep the classroom operations moving.
Statement II - Rhetorical Question: A series of question that ideally require the students to go beyond the initial response.

Options :

1. # Both Statements are False
2. # Both Statements are True
3. % Only Statement I is True
4. # Only Statement II is True



Question Number : 285 Question Id : 60092912560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad fawed! @ ufeT iR SU®! Tadl & Jae & ST fdded &1 994 HIToT|

DY 1 - USYD T UY: H&fT TATA b TAH I8 & ol Uy duR Y 7Y iR IuanT fHe |

HY 11 - TABING UY: Ul &1 T S forad el 9 4 S &I RS Ufaferar ¥ R o &1 SHaRadwdr g |
Options :

1. % G PYUT 3T &

2. % T HYT Id §

3. HAAHYT 1 II 8

4. % HIAPYT 1 II g

Question Number : 286 Question Id : 60092912561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was recognised as the focal point of language production in which a finite set of rules can produce an infinite number of

sentences.
Options :

1. # Semantics
2. ¥ Syntax

3. % Schema

4. % Phonetics

Question Number : 286 Question Id : 60092912561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I U AT & 6% foig & =0 & arar &1 18 o forad fadl &1 Siid wig s e & are &1 | R 9o g |
Options :
1. % gaifce
2. ¢ grRIfaaTy



3. % Wl
4. % WAfGIH

Question Number : 287 Question Id : 60092912562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's requirements were fulfilled by the grants given to the temples and they used to spend their time in worship of God and by singing and
dancing for the God?

Options :

1. ¥ Devdasis

2. % Widow

3. # Unmarried woman

4. % Spinster

Question Number : 287 Question Id : 60092912562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraet saaddrat & fd Hiexl &I iU M a1dt 3rge™ I gt ot iR 3 SU-T T W1 & SRTLAT 3R WA & forg T &R I
T g Hxd 2

Options :

1. ¢ <agIR

2. % faear

3. % Sfqarfed Afgan

4. % St

Question Number : 288 Question Id : 60092912563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A generalised view or preconception about attributes or characteristics that are or ought to be possessed by members of a particular social group
or the roles that are or should be performed by, members of a particular social group. What is this called?

Options :

1. ¥ Socialist Feminism



2. % Mainstreaming
3. % Parity
4. ¥ Stereotypes

Question Number : 288 Question Id : 60092912563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T 7 faRivarstt & IR & YAl d SUNTH a1 qauRon ST fedt faRiy Ao TUg & Jewi & U § 91 Ui gt arfey a1 Ut
YTl S fopedt faRiw o 908 & el gRT HYTS i § 31 FIHTS ST aTfee | 39 &1 gl Sffdl 62

Options :

1. % gHSETCE! ARIATG

2. % T-IYRT

3. ® gHMEAT

4. ¢ Ffgard]

Question Number : 289 Question Id : 60092912564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach is prominently featured in the concept of gender parity, the notion that an equal proportion of girls and boys should be enrolled
in and complete schooling?

Options :

1. # Gender Dynamics

2. % Human rights-based approach

3. ¥ Women in Development Approach
4. % Gender in Development Approach

Question Number : 289 Question Id : 60092912564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T @1 @Yo H fohg I &1 uadn ¥ fafd farar man ], a8 yRon for asfeal sk sl & THH YHIHUId &l SIRad
fegm ST =fee oiR fRren ot &=t =g

Options :




1. % e uRad-Tds

2. % AHEAYHR UTRT IUFTH
3. ¢ e IEs U H Afgame
4. % {qpNITHS JUNTH H foif

Question Number : 290 Question Id : 60092912565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of examinations are considered an egalitarian way of choosing worthy applicants without risking influence peddling, favoritism or
other concerns?

Options :

1. #® Online examinations

2. % Competitive examinations

3. # Computer-Based examination

4. ® Open Book Examination

Question Number : 290 Question Id : 60092912565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmwﬁuﬁ&ﬂ&ﬁﬁw-n‘q’iﬁw, T&OTd a1 3 fidrefi &1 SiRaH H STl foq1 avg 31dea! & Ta H- BT qHAIdIG dRide] HH1 STl
0

Options :

1. % 3T Ulef

2. ¢ gfaaih aiemy

3. % R TR Ut

4. % 3UA-gb URI&M

Question Number : 291 Question Id : 60092912566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is an index relationship between two or more variables and usually designated by 'r' and its coefficient ranges always between - 1 and +1?
Options :



1. ¥ Co-efficient of Correlation
2. # Co-efficient of Median
3. # (Co-efficient of Mean

4. % (Co-efficient of Standard Deviation

Question Number : 291 Question Id : 60092912566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 AT Sl ¥ 3 I & I GaH D GaY 1 g 3R A ' gRT FATGH far Srdn 8 $iR SUHT Ture ORI -1 3R +1 & o9 I 82
Options :

1. ¥ ggHdY Ul

2. % TISIDT BT UTTH

3. % HY BT UMD

4. % UM faae &1 0lid

Question Number : 292 Question Id : 60092912567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
validity is the characteristics which appear to measure those which are actually sought to be measured.
Options :
1. % Simple
2. % Content
3. % Predictive
4. ¥ Face

Question Number : 292 Question Id : 60092912567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aoy 3 TR & S 3 WU o o vl @l & S I # Ao Y A v B
Options :
1. % I



2. % U (Hee)
3. % UfqwRE®
4. A

Question Number : 293 Question Id : 60092912568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which disorder among the following is characterized by shifts in mood as well as changes in activity and energy levels, involves experiencing
shifts between elevated moods and periods of depression?

Options :

1. ¥ Hypomania

2. % Mania

3. % Bipolar disorder
4. # Schizophrenia

Question Number : 293 Question Id : 60092912568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § @ o 91 R Al # deard & Iry-a1y fafafd 3R ol & TR A seard ot fagivar g, Sorgd 3fAa agn ok
3(ATE P Al & S IGAId BT STHT A 52

Options :

1. % 3T (THIM)
2. % 3HIq

3. ¢ fgydi faeR

4. ® FAIfdgadr

Question Number : 294 Question Id : 60092912569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following options and select the appropriate option regarding its truthfulness.

Statement I - Autism spectrum disorder is characterized by persistent deficits in social interaction and communication in multiple life areas as



well as restricted and repetitive patterns of behaviors.

Statement II - Attention-deficit hyperactivity disorder is characterized by a persistent pattern of hyperactivity-impulsivity and/or inattention that
interferes with functioning and presents itself in two or more settings such as at home, work, school, and social situations.

Options :

1. # Both Statements are False
2. ¥ Both Statements are True
3. # Only Statement I is True
4. % Only Statement II is True

Question Number : 294 Question Id : 60092912569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad fawedl &) ufeu 3ik 9@ Tadl & Ty H Iugad fadwed &1 99 Hifod |

%‘?—F{I- %d(%\l-ldl Waed faeR w3 Sita &3 § Trioie Tudh 3R TR B TR S & ITY-T1Y SIdgR & Ufaefid iR gigxrd ardt de-
ERILGIR

HY 11 - SATTHIE Td Hfrfeh gt [adR Bt fa=IvdT § Stfforam=iiaar-smaT SiR/AT SIITaer & THTAR Ue off STl § gxda] HRdl §
3R W8 B R, HH, faenad iR arfore Rufadt ok 1 ar & § eifdres fufadl #f vRgd wrar g |

Options :

1. % QI HYF A §

2. ¢ G HYTIT §

3. % FAAPYTITT §

4. % FAADYTIIT§

Question Number : 295 Question Id : 60092912570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
People experiencing often avoid situations that might trigger an anxiety attack.

Options :
1. ¥ Agoraphobia

2. % Panic Disorder



3. % Separation Anxiety Disorder

4. # Generalised Anxiety Disorder

Question Number : 295 Question Id : 60092912570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT IIHT B aTd AT SRR W Rufat @ s § 7 Riar SR &1 9fd &= Jabclt 8
Options :
1. ¢ SHIdDh
2. % gagrge f[adR
3. % faunT fear fasr
4. % AP fdl f[dpR

Question Number : 296 Question Id : 60092912571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which age in Kohlberg's Moral Development Theory, the controlling forces for making judgement are highly internalised?
Options :

1. % 6 years onwards

2. % 8 years onwards

3. ® 10 years onwards

4. % 13 years onwards

Question Number : 296 Question Id : 60092912571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DA & AT [ABH Rigid A ford g ¥ ofa o & fore e av7 ardl 96 Srafties Siida gid 62
Options :

1. % 6qy dIG

2. % 3 qY dIg

3. % 1099 91



4. 1399 9IS

Question Number : 297 Question Id : 60092912572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of teaching occurs when students take turns leading the class discussion?
Options :

1. # Analogical teaching

2. # Co-operative learning

3. ¥ Reciprocal teaching

4. # Group learning

Question Number : 297 Question Id : 60092912572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR T 18101 81T § O1d BT IR1-aR} ¥ Féfl T BT A PR § 2
Options :

1. % 3F=Y JHIRTH

2. % HgHRI R

3. ¢ URWRS (R fRraro

4. % gUg HTH

Question Number : 298 Question Id : 60092912573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory states that each person has a unique frame of reference which develops out of his experiences with the environment?
Options :

1. #* Trait approach

2. % Humanistic approach

3. # Life-span approach

4. % Constitutional approach



Question Number : 298 Question Id : 60092912573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P I RiGid Hedl & [ Ud® afad Y &1 33T T3 8IdT § Sil TRl & A1y 9% SIHal J fawmRid giar 82
Options :

1. % fafkiy ef¥®iv ge wih)

2. ¥ AFJAEIG! ERHI0

3. % Sfa-3@fy =@

4. % GauTe e

Question Number : 299 Question Id : 60092912574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of drama methodologies are adopted by teachers depending on the class, the competence of the teacher and the content that is
being taught?

Options :
1. ¥ Two
2. % Three
3. % One
4. % Four

Question Number : 299 Question Id : 60092912574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fR1erep! gIRT P&, e BT &HdT 3R TS ol T8t It (o) & 3MYR WR fha- UbR & Aled Ugld 3U-Ts Sl 82
Options :

1.3

2. % dH

3. % TUh

4, % IR




Question Number : 300 Question Id : 60092912575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of drama session resembles a recipe, with a series of steps that produce a selected learning outcome?
Options :

1. # Open-ended Drama

2. # Holistic Drama

3. % Process-oriented Drama

4. % Linear Drama

Question Number : 300 Question Id : 60092912575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 TR BT ATee T o fafY & THH gYdr &, Fored =Rull &1 sRaet gidt § St gafd Rieror afkomy Ias #et 82
Options :

1. % U TS ST

2. % gifcife® g

3. % Yichdl-3" ACh

4. ¢ QP ACH




